4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,0

K71 nui4vae+u4 /25
- po 4138+ 0.0
p1 -34.15+ 0.00

TP delay [ns]

TVC(cbch) (0,0,4

- T33e+04 / 25
- pO 4181+ 0.0
p1 -34.32:+ 0.00

TP delay [ns]

TVC(cbch) (O 0,8

T il bsge+U4 / 25
Tanse, PD 4238+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(cbch) (0,0,12

T rnugplze+u4 [ 25
e, po 4242+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,1

AT 1 nuLosse+ud [ 25
P e po 4143+ 0.0
p1 343+ 0.0

1 1
50 100

TP delay [ns]

TVC(c,b ch) (0 0,5

-1 nuz.ylye+ud / 25
e pO 4184+ 0.0
pL -34.61% 0.00

[ C =28.89 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 0,9

T nuizprse+ud [ 25
- pO 4240+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (0,0,13

1 nuig ooe+ud / 25
= pO 4255 0.0
pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (0,0,2)

- C = 29.26 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,0,6

AT 1nuorse+ud /25
P po 4145+ 0.0
o pl -34.18+ 0.00

F C =30.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (0, 0 10

1000

1 nuiLgoye+u4 | 25
__ DO 4263+ 0.0
- pl -35.94 + 0.00

T 1nug,139e+04 / 25
Foe pO 4177+ 00
[ Pl 3322+ 000

TP delay [ns]

TVC(cbch) (0,0,14

T g pzze+u4 [ 25
- pD 4239+ 0.0
L pl -34.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,0,3

A1 L4444 ] 25
e po 4144+ 0.0
p1 -33.54+ 0.00

[ C =29.82 [ps/ch]

L

50 100

TP delay [ns]

TVC(c,b ch) (0 0,7

- nug 1ze+u4 / 25
o, pO 4203+ 0.0
pL -34.58  0.00

[ C =28.92 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (0, O

T bu4e+u4/25
- po 4270+ 0.0
p1 -35.48 + 0.00

TP delay [ns]

TVC(C, bch) (0,0,15

T nuis.asze+ud [ 25
= 4243+ 0.0
-34.28 + 0.00

[ C=29.17 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



TVC(cbch)(OlO) TVC(cbch)(Oll) TVC(cbch)(OlZ) TVC(cbch)(013)
T se+ud /25 AT rnunizze+ud [ 25 A7 1nuizyse+ud /25 AT Lz re+ud [ 25
4000 fe” po 4183+ 0.0 4000 fm po 4192+ 00 4000 e, PO 4215+ 0.0 4000 PO 4215+ 0.0
pl -34.25+ 0.00 pl -35.07 + 0.00 : pl -36.02 i_0.00 pl -36.12+ 0.00

- 3000

- 3000 N

3000 -1 3000

2000 4 2000 - 2000 - 2000

1000 . 1000 - 1000

1000

50 0% 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (0,1,4) TVC(cbch) (0,1,5) TVC(cbch) (0,1,6) TVC(cbch) (0,1,7)
- i 3p3e+04 / 25 -1 nui 3u3e+u4 / 25 - Ui 335e+04 / 25 -1 nui Zb3e+u4 / 25
4000 fom pO 4209+ 0.0 4000 Fem, pO 4216+ 0.0 4000 [, pO 4229+ 0.0 4000 s pO 4233+ 0.0
Pl -34.47:0.00 Pl -3452+ 0.00 L Pl -35.25%0.00 Pl -34.47:0.00
3000~ E 3000 - 3000 — — 3000 | B
2000 E 2000 E 2000 - - 2000 E
w0 C = 29.01 [ps/ch] ] 1000 . woof C = 28.37 [ps/ch ] wor C = 29.01 [ps/ch] ]
1 1 - [ 1 1 ~- ] 1 1 "
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh=(0,1,8) TVC(eb.eh)=(0,1,9) TVC(eb,eh)=(0, 1,10) TVC(ebe)=(0,1,11)
© 1 nuz,044e+04 [ 25 T 4.3e+04 /25 © 1 nuiLyyse+u4 / 25 -1 bgbe+u4 / 25
4000 pO 4211+ 0.0 4000 pO 4228+ 0.0 4000 [, DO 4245+ 0.0 4000, p0 4245+ 00
Pl -35.07: 0.00 Pl -34.37:0.00 3 Pl -35.32% 0.00 Pl -35.34: 0.00
3000 E 3000 - 4 3000 3 3000 E
2000 B 2000 4 2000 — 2000 B

1000 -1 1000

w00~ C = 29.10 [ps/ch]

- 1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(Oll ) TVC(cbch)(OllB) TVC(cbch)(Oll ) TVC(cbch)(0115)
TinuiLgrye+ud / 25 T i boye+u4 [ 25 T nuiLa41e+04 [ 25 T 511e+04 [ 25
4000 fm, pO 4264+ 0.0 4000 [, pO 4270+ 0.0 4000 fm, PD 4253+ 0.0 4000 fe pO 4262+ 0.0
pl -37.06 + 0.00 pl -37.76 + 0.00 r pl -36.8+ 0.0 -36.91+ 0.00

3000 -1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000

-1 1000

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,0

A7 1 nun asae+04 /25
P, po 4201+ 0.0
pl -36.3+ 0.0

TP delay [ns]

TVC(cbch) (02,4

-1 zoye+ud / 25
- pO 4184+ 0.0
pl -35.68:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 2,8

T rnuiLgrze+04 [ 25
= po 4227+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (0,212

T L 5Ee+U4 / 25
= po 4245+ 0.0
pl -36.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,1

X" 1 iLduLe+ud | 25
., po 4196 + 0.0
pL -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,5

- nun b3ze+u4 [ 25
pO 4204+ 0.0
pL -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (0 2,9

T nun.yrge+ud [ 25
po 4260+ 0.0
pl -36.33 + 0.00

TP delay [ns]

TVC(cbch) (0,213

T nuiLp4ye+ud / 25
pO 4229+ 0.0
pl -36.78 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,2,2)

K™ 1nun1yze+04 /25
- po 4212+ 0.0
o pl -35.82+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,2,6

-1 nur bEye+ud [ 25
- pO 4201% 0.0
3 pl -36.32+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 2 10

1000

© 1z zgve+ud | 25
- po 4261+ 0.0
- pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,214

T rnuiLp4e+u4 /25
-, pD 4246+ 0.0
L pl -37.13+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,2,3

AT 1 nuiL4sye+ud [ 25
- po 4221+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (0 2,7

-1 nui bzge+u4 / 25
- pO 4229+ 0.0
pL -37.18+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 2

T ywe+u4/25
- po 4259+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(C, bch) (0,215

T nui p4se+ud [ 25
= pO 4244+ 0.0
p1 -36.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,0)

T g zoe+ud /25
P pO 4200+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (0,34

Tz re+04 /25
e pO 4188+ 0.0
p1 -34.813 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 3,8

1 nuiz.409e+04 / 25
= po 4222+ 0.0
p1 -34.74 + 0.00

TP delay [ns]

TVC(cbch) (0,312

~ 1L 4o8e+04 / 25
= po 4257+ 0.0
pl -36.73+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,1)

AT rnuiLii/e+ud /25
P po 4199+ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,5

-1 nui 418e+04 / 25
pO 4193 0.0
pL -35.29+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,9

T nu.p18e+u4 / 25
po 4237+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (0,3,13

T inai s3ze+ud [ 25
pO 4248+ 0.0
-35.16 + 0.00

TP delay [ns]

4000

2000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,3,2)

1000

A7 1 nun zeoe+u4 / 25
- po 4212+ 0.0
L pl -36.14 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,36

-1 nuiL483e+04 [ 25
- pO 4212+ 0.0
3 pl -36.73+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 3 10

© 1L yz4e+u4 | 25
- po 4247+ 0.0
- pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,3 14

T rnuiLgsze+u4 [ 25
- pD 4268+ 0.0
L pl -36.29 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,3,3

AT 1 nuiLzoze+ud [ 25
pm-, po 4224+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (0 3,7

“nan1.44e+04 /25
e po 4224+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 3

T biée+l}4/25
- po 4255+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(C, bch) (0,3,15

Tinuis31e+u4 /25
- pO 4264+ 0.0
p1 -35.28 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,0)

AT inuiLol/e+u4 /25
4203+ 0.0
-37.01+ 0.00

TP delay [ns]

TVC(cbch) (04,4

- i 3zoe+u4 / 25
. pO 4200+ 0.0
pl -36.38 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 4,8

T nuiLL / (be+U4 | 25
- po 4220+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(cbch) (0,4,12

~ 1L 4ope+u4 / 25
4227+ 0.0
-36.41+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,1)

AT rnuiLolye+ud /25
P, po 4184+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,5

= nuiLas1e+ud [ 25
== po 4202+ 0.0
pl -36.81+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 4,9

~ 1 nug sbze+ud [ 25
- po 4235+ 0.0
pl -35.01+ 0.00

TP delay [ns]

TVC(cbch) (0,4,13

T inuio3se+ud [ 25
= pO 4235+ 0.0
pl -36.35+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,4,2)

A~ 1 nui oose+u4 / 25
_E po 4219+ 0.0
L pl -38.06 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (04,6

=i, 74pe+04 [ 25
3 pO 4223+ 0.0
[ pl -37.91 0.00

TP delay [ns]

TVC(cbch) (0, 4 10

T Ly ze+u4 | 25
. po 4258+ 0.0
- pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (0,4,14

~ 1L pzse+u4 | 25
- pD 4226+ 0.0
L p1 -36.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,4,3)

AT 1L rose+u4 [ 25
- po 4226+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (0 4,7

1 nuiLbroe+ud / 25
= po 4217+ 0.0
pl -37.15+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (0, 4

SRR bUie+U4/25
- po 4265+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (0,4,15

Tonan L e+ud [ 25
4235+ 0.0
-37.41+ 0.00

50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,0)

A7 1 nui zuse+u4 / 25
4176+ 0.0
-36.62+ 0.00

TP delay [ns]

TVC(cbch) (0,5,4

S i1 zze+04 [ 25
4190+ 0.0
-35.19+ 0.00

= po
pl
e g
| L
50 100
TP delay [ns]
TVC(cbch) (0.5.8)
- S rnun z53e+04 /25
= po 4180+ 0.0
-34.42+ 0.00

p1

TP delay [ns]

TVC(cbch) (0,5, 12

A1,

- po
p1

142e+04 125
4194+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,51)

. p0

pl

AT nuLsroe+ud [ 25
4175+ 0.0
-37.53+ 0.00

TP delay [ns]

TVC(c,b ch) (0 55

pO
pl

-1 nui 31ee+u4 / 25
4180+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 59

T naiLgu/e+us / 25
4201+ 0.0
-35.38 + 0.00

TVC(cbch) (0,5,13

TP delay [ns]

T nui syve+ud [ 25
4200+ 0.0
-34.56 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,5,2)

=, po

A7 1 nun zeoe+u4 / 25
4181+ 0.0
-36.7+ 0.0

pl

TP delay [ns]

TVC(e.ben=(0,5, 6

i

pO
p1

v8/2/25
4190+ 0.0
-35.92 + 0.00

TP delay [ns]

TVC(cbch) (0, 5 10

= pO

1 nuig.z4ge+u4 | 25
4223+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(cbch) (0,5,14

T L ose+ud /25
= pD 4204+ 0.0
L p1 -35.54+ 0,

-35.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,5,3)

e po

AT rnuiLsuze+ud [ 25
4182+ 0.0
-36.1+ 0.0

p1

TP delay [ns]

TVC(c,b ch) (0 57

pe=e. pO
pl

S nun 1 pbe+ud [ 25

4201+ 0.0
-33.79+ 0.00

[ C =29.59 [ps/ch]

_L

1
50 100

TP delay [ns]

TVC(c,b ch) (0, 5

= pO

T, uue+u4/25
4217+ 0.0
-34.68 + 0.00

TP delay [ns]

TVC(C, bch) (0,5,15

== pO

T nui p3oe+ud / 25
4202+ 0.0
-35.07 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,6,0

A~ 1nui doze+04 | 25
- po 4205+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(cbch) (06,4

T rnuiLa31e+u4 / 25
pO 4194+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(cbch) (O 6,8

-z barerud | 25
po 4213+ 0.0
p1 -36.55+ 0.00

TP delay [ns]

TVC(cbch) (0,6,12

T rse+u4 / 25
pO 4222+ 0.0
pl -34.88 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,1

AT 1 nuiL3yve+u4 [ 25
e, po 4196+ 0.0
p1 -35.88 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,5

- 1 3uge+u4 25
= pO 4177+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (0 6,9

-1 naigyse+ud / 25
= po 4228+ 0.0
p1 -36.28 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 6 13

T nai s48e+ud [ 25
= pO 4215+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (0,6,2)

K™ nui z43e+04 | 25
=, po 4201+ 0.0
L pl -35.6 + 0.0

3000

TP delay [ns]

TVC(cbch) (06,6

-1 nuiL4p9e+04 / 25
4196+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(eb,oh)=(0, 6, 10

1000

0

-1 s 11ve+u4 | 25
- pO 4253+ 0.0
[ pL -37.11 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,6,14

1 nuiL4o8e+04 / 25
- pD 4219+ 0.0
[ p1 -35.74+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,6,3)

i tlsserud | 25
e pO 4218+ 0.0
pL -36.22  0.00

TP delay [ns]

TVC(c,b ch) (0 6,7

= 1 nui 3goe+ud | 25
= po 4193+ 0.0
pl -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 6

T, 4b::e+u4/25
= pO 4266+ 0.0
p1 -37.45 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 6 15

~ 1 nuiagse+ud [ 25
- po 4220+ 0.0
p1 -35.5+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,7,0

A7 nun zsye+ud [ 25
- po 4200+ 0.0
pl -37.38+ 0.00

TP delay [ns]

TVC(cbch) (0,7,4

T 1 see+u4 /25
- pO 4220 0.0
pl -35.37:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (O 7,8

T rnuz331e+u4 /25
= po 4235+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(cbch) (0,7,12

[ C =28.99 [ps/ch]

©rnuiL44se+04 / 25
= po 4220+ 0.0
-34.49 + 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1

AT 1L ssze+ud [ 25
P po 4211+ 0.0
pl -37.67 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

=1 4vpe+04 / 25
- pO 4223+ 0.0
pL -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

T nug. rbae+ud / 25
- pO 4243+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (0,7,13

T inai s4ze+u4 /25
4237+ 0.0
-36.51+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (0,7,2)

K™ 1 nui4uie+ud /25
- po 4234+ 0.0
o pl -37.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,6

- 1L b1ge+ud / 25
- pO 4223+ 0.0
[ pl -35.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (0, 7 10

T nubioe+u4 [ 25
= po 4257+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,7,14

~ i Sooe+u4d / 25
- pD 4238+ 0.0
L pl -35.75+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3

AT 1 nuiLozze+ud [ 25
- po 4230+ 0.0
pl -37.02+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

=1 i Bube+u4 / 25
4219+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(c,b ch) (0, 7

T, /14e+u4/25
= po 4260+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(C, bch) (07,15

T nuiasve+ud [ 25
= pO 4250+ 0.0
p1 -36.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (0,8,0)

AT zize+04 /25
4214+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0.8,4

- i 3y1e+u4 / 25
pO 4216+ 0.0
p1 -34.95+ 0.00

TP delay [ns]

TVC(cbch) (O 8,8

Tnung1ge+u4 /25
po 4238+ 0.0
pl -36.41+ 0.00

0

TP delay [ns]

TVC(cbch) (0,812

T rnuiLyise+u4 / 25
pO 4255+ 0.0
pl -37.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,1

AT rnuLzrse+ud [ 25
P, po 4199+ 0.0
p1 -34.94+ 0.00

TP delay [ns]

TVC(c,b ch) (0 8,5

- 1nui48/e+04 [ 25
= 4211+ 0.0
-34.36 + 0.00

[ C=29.10 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

-1 nuy.guze+ud 25
- pO 4254+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(cbch) (0,8,13

1 nuiL pove+ud / 25
= pO 4265+ 0.0
pl -37.04 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(cbch) (0,8,2)

A7 1nun s4ze+04 /25
. po 4211+ 0.0
- pl -35.69+ 0.00

3000

TP delay [ns]

TVC(cbch) (0,86

T i, ry3e+u4 [ 25
- pO 4233+ 0.0
[ pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

1 nuig,39pe+u4 / 25
__ DO 4281+ 0.0
- pl -36.99 + 0.00

TP delay [ns]

TVC(cbch) (0,814

1000

1 nuiLpube+u4 / 25
- pD 4263+ 0.0
L pl -37.44+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3

AT 1 nuiL4use+ud [ 25
- po 4230+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (0 8,7

-1 nui bgbe+u4 / 25
- pO 4238+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 8

T su=e+u4/25
= pO 4274+ 0.0
pl -36.73+ 0.00

TP delay [ns]

TVC(C, bch) (0,815

Tonan g oze+ud [ 25
- pO 4255+ 0.0
p1 -36.45+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0

A7 1 nui ooye+ud / 25
., po 4182+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(cbch) (0,9,4

- 1 ba4e+04 / 25
4180+ 0.0
-35.4+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (O 9,8

T rnuiz.zu1e+u4 / 25
po 4215+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (0,9,12

© L oEse+U4 / 25
pO 4220+ 0.0
pl -35.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1

AT rnuiLzyie+ud [ 25
., po 4178+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(c,b ch) (0 9,5

-1 nui bule+ud / 25
pO 4198+ 0.0
pL -35.28+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,9

<1 nuw, roye+u4 25
po 4211+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(cbch) (0,9,13

Tinuisr1e+ud /25
4197+ 0.0
-34.41+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,2)

A7 1 nui4s0e+04 / 25
- po 4198+ 0.0
[ p1 -36.21+ 0.00

TP delay [ns]

TVC(cbch) (0,9,6

- i bzge+u4 [ 25
- pO 4198+ 0.0
3 pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (0, 9 10

T rnuz3yle+ud | 25
= po 4248+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (0,9,14

T rnuiLgo/e+04 /25
- pD 4207+ 0.0
L pl -34.09 + 0.00

- C = 29.33 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

AT 1 nuiL4noe+ud [ 25
po 4199+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(c,b ch) (0 9,7

-1 nui Byye+u4 / 25
pO 4215+ 0.0
pL -36.63+ 0.00

TVC(c,b ch) (0, 9

50 1(;0
TP delay [ns]

T bdbe+l}4/25
po 4245+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(C, bch) (0,9,15

T inuibzie+ud [ 25
po 4223+ 0.0
p1 -34.87+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

po
pL

T rnuizzge+u4 [ 25
4207+ 0.0
-34.1+ 0.0

[ C =29.32 [ps/ch]

1
50 100

TP delay

TVC(Cbch) (o, 10 4

pO
pl

[ns]

1 nuiL444e+04 | 25
4224+ 0.0
-36.52+ 0.00

50 10'0
TP delay

TVC(cbch) (0o, 10 8

[ns]

-1 nuiLy1ge+ud [ 25
4214+ 0.0
pl -35.23+ 0.00

TP delay

TVC(Cbch) (o, 10 12

E pO

[ns]

- i 5le+ud [ 25
4259+ 0.0
pl -36.59 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

e, po

pl

AT nuiLgoze+u4 [ 25
4205+ 0.0
-34.26 + 0.00

[ C=29.19 [ps/ch]

L 1
50 100

TP delay

TVC(c,b Ch) (0, 10 5

F- pO

[ns]

=11 bbye+u4 / 25
4232+ 0.0
pl -37.25+ 0.00

TP delay

TVC(c,b ch) (0, 10

E pO

[ns]

- s yo3e+U4 | 25
4232+ 0.0
pL -36.49 + 0.00

TP delay

TVC(c,b ch) (0, 10 13

b, pO
p1

[ns]

T nuin4ne+ud [ 25
4253+ 0.0
-36+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

4000

3000

2000

1000

1000

0

1000

TVC(CbCh) (o, 10 2)

- °°

pl

T srve+ud [ 25
4213+ 0.0
-34.6+ 0.0

TP delay

TVC(Cbch) (o, 10 6

[ns]

10, 6)
1 nur szoe+U4 | 25
-, pO 4234+ 0.0
L pl -36.69 + 0.00
F C=27.26 [ps/ch ]
1 L -
50 100
TP delay [ns]

TVC(e,b,ch)=(0, 10, 10

= "

S rnu 2. z8e+04 1 25
4253+ 0.0
pl -36.59 + 0.00

TP delay

TVC(CbCh) (o, 10 14

[ns]

- 1 s83e+u4 [ 25
4261+ 0.0
p1 -36.87 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

po

X- 1L 1Zae+U4 | 25
4228+ 0.0
pL -34.79+ 0.00

TP delay

TVC(c,b Ch) (0, 10 7

o, pO

[ns]

-1 nui yaye+u4 / 25
4257+ 0.0
p1 -37.16+ 0.00

50 160
TP delay

TVC(Cbch) (0, 10 11

[ns]

-1 nuiL byge+u4 / 25
4249+ 0.0
-35.1+ 0.0

TP delay

TVC(cbch) (0, 10 15

[ns]

T inuin4le+ud /25
4255+ 0.0
-37.11+ 0.00

PR R SR |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,11,0)

A7 1nun zsse+ud [ 25
P po 4157+ 0.0
p1 34,58+ 0.00

TP delay [ns]

TVC(cbch) (0,11,4

T 3ble+ud / 25
e pO 4163+ 0.0
pl -33.99+ 0.00

TP delay [ns]

TVC(cbch) (0, 11 8

T rnuz.z4ze+04 | 25
= po 4186+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (0,11, 12

A7 1 nui ssye+ud [ 25
- po 4212+ 0.0
pl -35.62 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,11,1)

AT 1 nunLzsse+ud [ 25
- po 4159+ 0.0
pl -35.14+ 0.00

TP delay [ns]

TVC(cbch) (0,11,5

=1 nui 4bbe+04 / 25
4190+ 0.0
-34.8+ 0.0

50 1(;0
TP delay [ns]

TVC(eh.eh)=(0, 11, 9

-1 nu.qusae+u4 | 25
= po 4208+ 0.0
p1 -34.63+ 0.00

TP delay [ns]

TVC(cbch) (0,11,13

Tinai/1e+ud /25
== pO 4205+ 0.0
pl -35.44+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(CbCh) (o, 11 2)

T sure+ud /25
pee-, pO 4174+ 0.0
L pl -35.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (0,11,6

S ry/e+u4 [ 25
4211+ 0.0
-35.9+ 0.0

TP delay [ns]

TVC(cbch) (0,11, 10

— X~ 1wz 3z8e+04 [ 25
= po 4197+ 0.0
L p1 -34.24 % 0.00

- C =29.21 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,11, 14

1000

X~ 1 441e+04 /25
= po 4216+ 0.0
L p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

AT rnuaiLsize+ud [ 25
poes, po 4183+ 0.0
p1 -34.98 + 0.00

TP delay [ns]

TVC(cbch) (0,11,7

-1 nui 429e+04 / 25
- pO 4195+ 0.0
p1 -34.14 + 0.00

[ C =29.29 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(e.b.eh=(0, 11, 11

- TinuiLpl/e+ud /25
= po 4213+ 0.0
pl -35.17 + 0.00

TP delay [ns]

TVC(cbch) (0,11,15

T nun ss3e+ud [ 25
- po 4210+ 0.0
p1 -34.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (o, 12 0)

T rnuiLzane+U4 [ 25
4208+ 0.0
pl -35.35+ 0.00

TP delay

TVC(cbch) (0,124

pO
pL

[ns]

-1 nuiLasze+u4 [ 25
4216+ 0.0
-37.73+ 0.00

50 100
TP delay

TVC(cbch) (0o, 12 8

B pD

[ns]

©1nuizul4e+u4 [ 25
4203+ 0.0
pl -36.64 + 0.00

TP delay

TVC(cbch) (0,12, 12

B pO

[ns]

T L pase+u4 / 25
4219+ 0.0
pl -35.58 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

. PO

AT 1 nuiLoble+ud /25
4216+ 0.0
-37.62+ 0.00

pl

TP delay [ns]

TVC(cbch) (0,125

-1 nui49ze+04 [ 25
4207+ 0.0
-37.17 + 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

e, po

pl

T nup.z31e+u4 / 25
4224+ 0.0
-36.61+ 0.00

TP delay [ns]

TVC(cbch) (012,13

- pO
p1

Tinuin4le+ud [ 25
4221+ 0.0
-36.09 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (o, 12 2)

- 50

T4 roe+u4 [ 25
4213+ 0.0
pl -36.37 + 0.00

TP delay

TVC(cbch) (0.12,6

pO
p1

[ns]

-1 i bBge+u4 / 25
4212+ 0.0
-36.88 + 0.00

TP delay

TVC(cbch) (0, 12 10

= o

[ns]

Tz zsve+ud | 25
4237+ 0.0
pl -36.36 + 0.00

TP delay

TVC(cbch) (0.12,14

- pD

[ns]

~ 1L boBe+U4 / 25
4227+ 0.0
-35.71+ 0.00

PR IR SRR |
50 100

TP delay

[ns]

TVC(Cbch) (0,12,3)

AT 1L ovye+ud [ 25
4237+ 0.0
pl -36.87 + 0.00

4000 [

po

3000

2000

1000

TP delay

TVC(c, bch) (0,12,7

2000 pO

[ns]

-1 nui yuse+u4 / 25
4240+ 0.0
pl -37.18+ 0.00

3000

2000

1000 C

50 100
TP delay

TVC(eh.eh)=(0, 12, 11

4000 [ue.

[ns]

T nuzysle+ud /25
4249+ 0.0
-36.6 + 0.0

3000

2000

1000

1
50 100

TP delay

TVC(cbch) (0,12,15

4000 ey pg

p1

[ns]

T inan 1 bye+ud [ 25
4227+ 0.0
-36.2+ 0.0

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 13 0)

~ 1w pb4e+u4 / 25
pO 4215+ 0.0
-35.91+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,134

T Ly r3e+ud / 25
pO 4234+ 0.0
pl -36.95+ 0.00

- C N
1 L -'
50 100
TP delay [ns]
TVC(c,b, ch) (0,13,8)
Tz sse+V4 [ 25
- po 4262+ 0.0
pl -34.41+ 0.00

[ C =29.06 [ps/ch]

0

50

1
100

TP delay [ns]

TVC(cbch) (0,13,12

[ C =29.03 [ps/ch]

Tz rse+u4 | 25
pO 4251+ 0.0
-34.45+ 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

AT rnuiLsloe+ud [ 25
po 4213+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(c, bch) (0,135

-1 nui z91e+u4 / 25
pO 4237+ 0.0
37+ 0.0

1(;0
TP delay [ns]

TVC(c,b ch) (0, 13

[ C =29.06 [ps/ch]

-1 nub.ygye+ud / 25
po 4284+ 0.0
p1 -34.42 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (013,13

T inuzasze+ud [ 25
pO 4251% 0.0
pl -35.78 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (0,13,2)

K™ 1 nui rose+u4 / 25
po 4219+ 0.0
pl -35.5+ 0.0

TP delay [ns]

TVC(cbch) (0.13,6

-1 nuz185e+04 [ 25
pO 4259+ 0.0
pl -37.18+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 13 10

- C = 28.81 [ps/ch]

T rnuig1yle+ud / 25
DO 4304+ 0.0
p1 -34.71+ 0.00

0

50

1
100

TP delay [ns]

TVC(cbch) (0.13,14

Tz b43e+04 [ 25
pD 4249+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

AT L ysse+ud [ 25
po 4238+ 0.0
pl -37.18+ 0.00

TP delay [ns]

TVC(c, bch) (0,13,7

-1 nu zobe+u4 / 25
pO 4250+ 0.0
-36.5+ 0.0

1(;0
TP delay [ns]

TVC(cbch) (o, 13 1

T inuiz r14e+04 / 25
pO 4303+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (0,13,15

T 1nuiz.ayse+ud [ 25
pO 4268+ 0.0
p1 -36.57 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 14 0)

e, pO

T rnuiL4use+u4 [ 25
4181+ 0.0
pl -36.43+ 0.00

TP delay

TVC(cbch) (0,144

[ns]

-1 nuiL4p9e+04 / 25
4202+ 0.0
-34.65+ 0.00

- pO
p1
FC N
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (0, 14 8)
T 1nu p34e+04 / 25
= po 4202+ 0.0
pl -35.36 + 0.00

TP delay

TVC(cbch) (0,14, 12

B pO

[ns]

T rnuiLb41e+04 /25
4223+ 0.0
pl -35.96 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,14,1)

e, po

A1 azoe+ud [ 25
4194+ 0.0
-35.77 + 0.00

pl

TP delay [ns]

TVC(c, bch) (0,14,5

~ 1 nuib3/e+u4 [ 25
4206+ 0.0
-34.89 + 0.00

TP delay [ns]

TVC(ebeh)=(0, 14,9

==, po

pl

T nugplbe+ud / 25
4218+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(cbch) (0.14,13)

e

- po
p1

Yr03/25
4225+ 0.0
-36.35+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (0,14,2)

= po

A7 1 nui qose+04 / 25
4199+ 0.0
pl -35.85+ 0.00

TP delay

TVC(cbch) (0.14,6

pO
p1

[ns]

T rnunLa8/e+u4 [ 25
4205+ 0.0
-34.01+ 0.00

F C = 29.40 [ps/ch]

50 10‘0
TP delay

TVC(cbch) (0, 14 10

= 90

[ns]

1 nuiLgoye+u4 | 25
4231+ 0.0
pl -35.96 + 0.00

TP delay

TVC(cbch) (0. 14,14

- PD

[ns]

T rnuiLprge+ud [ 25
4239+ 0.0
pl -37.13+ 0.00

TP delay

[ns]

TVC(Cbch) (0,14,3)

AT rnuiLszre+ud [ 25
4197+ 0.0
pl -35.19+ 0.00

4000 (e

po

3000

2000

1000

TP delay

TVC(c, bch) (0,14,7

2000 pO

[ns]

=1 nui buse+u4 / 25
4205+ 0.0
pl -34.56 + 0.00

3000 -

2000 -

w0l C = 28.93 [ps/ch]

TP delay

TVC(eh.ch)=(0, 14, 11

4000 £ pO

[ns]

-1 nuipule+ud / 25
4230+ 0.0
pl -36.05+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (0,14,15

4000 [u.

[ns]

T nai rsse+ud [ 25
4244+ 0.0
p1 -37.33+ 0.00

3000

2000

1000

TP delay

[ns]



TVC(CbCh) (o, 15 0)

4000 [

3000

2000 -

w0l C = 29.77 [ps/ch]

T zie+u4 /25
pO 4193+ 0.0
pl -33.59+ 0.00

50

1
100

TP delay [ns]

TVC(cbch) (0,154

- i a81e+04 / 25
pO 4208+ 0.0
pl -36.02:+ 0.00

4000 [
3000 - T
2000 7
1000~ C T
| L -
50 100
TP delay [ns]
TVC(c,b, ch) (0o, 15 8

4000 [

3000

2000

1000

T rnuzsz(e+04 | 25
PD 4217+ 0.0
pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

4000 [

3000

2000

1000

i ps4e+u4 | 25
pO 4229+ 0.0
pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,15,1)

A~ 1 nuiLuYoe+u4 / 25
e, po 4192+ 0.0
pl -33.05+ 0.00
[ C =30.26 [ps/ch] ™. 7]
L L =
50 100
TP delay [ns]

TVC(cbch) (0,155

-1 nui by3e+ud / 25
4211+ 0.0
-36.3 + 0.0

1(;0
TP delay [ns]

TVC(c,b ch) (0, 15

T nup.b31e+u4 / 25
po 4256+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

-1 nuiLbube+ud / 25
pO 4219+ 0.0
pl -34.72+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

1000

TVC(CbCh) (0,15,2)

K™ 1nuizyie+u4 /25
po 4215+ 0.0
p1 353+ 0.0

TP delay [ns]

TVC(cbch) (0.15,6

T i/ (ze+04 [ 25
pO 4216+ 0.0
pl -36.43+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 15 10

T rnuzbyle+ud [ 25
po 4275+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (0.15,14

- C = 29.07 [ps/ch]

T ss4e+04 [ 25
pD 4216+ 0.0
-34.4+ 0.0

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0, 15 3)

“rnar 908/ 25
P, pO 4209+ 0.0
pL -34.85+ 0.00

TP delay [ns]

TVC(c, bch) (0,157

S nun1.83e+04 [ 25
- pO 4232+ 0.0
pL -36.59+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

[ C=29.05[ps/ch]

T nui rgoe+u4 / 25
- po 4252+ 0.0
p1 -34.42+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

T inuiasse+ud [ 25
- po 4226+ 0.0
p1 -34.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0)

A7 1 nui sove+u4 / 25
4181+ 0.0
-36.21+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

- Ui 4u4e+u4 [ 25
™, pO 4163+ 0.0
pl -35.95+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T 31e+04 / 25
= po 4187+ 0.0
pl -34.33+ 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T L5 rve+u4 [ 25
= po 4199+ 0.0
pl -34.94 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

A1 L Sa4e+U4 | 25
' po 4184+ 0.0
pL -36.81% 0.00

TP delay [ns]

TVC(c,b ch) (1, O

~nui 3u/e+u4 / 25
pO 4172+ 0.0
pL -35.41% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1 0,9

-1 nug.Usoe+ud / 25
po 4207+ 0.0
p1 -34,53+ 0.00

TP delay [ns]

TVC(cbch) (1,0,13

T nui ogbe+ud [ 25
pO 4198+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

K71 nuiozze+V4 /25
i po 4178+ 0.0
L pl -35.54 + 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

T rnun153e+04 /25
4182+ 0.0
-35.41+ 0.00

TP delay [ns]

TVC(cbch) (1, 0 10

T rnuiLgle+u4 [ 25
= po 4226+ 0.0
- pl -34.75+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

~1nuiLgyse+u4 / 25
= pD 4212+ 0.0
L p1 -37.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

x- 1L Sase+ud [ 25
pe=, po 4201+ 0.0
pL -36.34 + 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

- nui bz/e+u4 / 25
e, pO 4193+ 0.0
pL -36.28+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T bdie+l}4/25
e pO 4234+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

T inuiL g rye+ud [ 25
= pO 4206+ 0.0
p1 -36.43+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

AT 1nui4se+04 /25
4174+ 0.0
-36.11 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- i b33e+04 / 25
4174+ 0.0
-35.61+ 0.00

50 10‘0
TP delay [ns]

TVC(ebioh)=(1, 1,8

©nuiLg3pe+U4 / 25
= po 4193+ 0.0
p1 -34.57 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

T Ly e+u4 [ 25
4210+ 0.0
-36.3+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

X 1 i dyae+ud | 25
. po 4195+ 0.0
pL -35.57 £ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

-1 nui baye+ud / 25
pO 4192+ 0.0
pL -36.06+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

- C =29.19 [ps/ch]

<1 nuw,pybe+ud / 25
po 4218+ 0.0
p1 -34.26 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,1,13

T inuiLpo/e+ud [ 25
pO 4202+ 0.0
-36.71+ 0.00

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A7 1 nui440e+04 /25
- po 4194+ 0.0
o pl -35.26 + 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

- 1L bube+u4 / 25
- pO 4201% 0.0
[ pl -35.95+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- C =29.10 [ps/ch]

©nuiz. 1ibe+ud / 25
-, po 4225+ 0.0
- pl -34.36 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,114

-1 nuiLpobe+u4 / 25
= pD 4212+ 0.0
+ pl -36.75+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT 1 nuiLzsse+ud [ 25
P, po 4201+ 0.0
p1 349+ 0.0

TP delay [ns]

TVC(c,b ch) (1 1,7

“nui /1/e+04 /25
- pO 4201+ 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
T nui voze+u4 [ 25
- po 4229+ 0.0
pl -35.02+ 0.00

TP delay [ns]

TVC(cbch) (1,1,15

T nui ogse+ud [ 25
= pO 4203+ 0.0
p1 -35.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

A7 1 nui suve+ud / 25
. po 4194+ 0.0
pl -36.62+ 0.00

TP delay [ns]

TVC(cbch) (1,24

T Lz ge+ud | 25
e, pO 4212+ 0.0
p1 -35.79.+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

T z14e+04 /25
= po 4195+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T i syse+u4 / 25
= po 4239+ 0.0
pl -36.64 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,1

AT 1L suse+ud [ 25
' po 4194+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nui bole+ud [ 25
pO 4230+ 0.0
pL -35.71% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 2

Tinun 4.03e+04 1 25
po 4217+ 0.0
pl -35.03 + 0.00

TP delay [ns]

TVC(cbch) (1,213

Tinai14/e+u4 /25
pO 4237+ 0.0
pl -37.14+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,2,2)

A~ 1nuizroe+V4 /25
_- po 4208+ 0.0
o pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

S rnubl/e+u4 /25
- pO 4238+ 0.0
[ pl -35.88+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1 nuiLgEYe+u4 / 25
= po 4227+ 0.0
- pl -35.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,2 14

T L g4ze+04 [ 25
- pD 4238+ 0.0
L pl -36.13+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3)

AT 1 nuiLlive+ud /25
- po 4201+ 0.0
p1 -34.59 + 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

-1 nui base+u4d / 25
- pO 4235 0.0
pL -35.57+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T, /Uée+U4/25
e pO 4249+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

-1 nuipuze+ud / 25
4234+ 0.0
-36.11 + 0.00

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

A~ 1, rove+u4 / 25
' po 4205+ 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(cbch) (1,34

-1 398e+u4 / 25
4199+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(cbch) (1 3,8

-1 nuz 0gre+u4 [ 25
PD 4229+ 0.0
pl -35.22 + 0.00

TP delay [ns]

TVC(cbch) (1,312

[ C =30.01[ps/ch] ™.

- 1 i zooe+u4 / 25
po 4192+ 0.0
pl -33.32:+ 0.00

P R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

A7 1 nuiLbebe+U4 / 25
. po 4205 0.0
p1 -35.73+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nuiLa4ze+0d | 25
po 4230+ 0.0
pl -38.38 + 0.00

50 150 =
TP delay [ns]

TVC(c,b ch) (1 3,9

s, 7zse+Ud | 25
pO 4247+ 0.0
pL -35.85+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 3 13

[ C =29.91 [ps/ch] 7]

T nuiL suse+ud / 25
4193+ 0.0
-33.44+ 0.00

PR R SR |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,2)

X~ 1L 540e+04 [ 25
po 4209+ 0.0
p1 -36.04 + 0.00

TP delay [ns]

TVC(cbch) (1,36

- i bs4e+u4 / 25
4230+ 0.0
-38.2+ 0.0

TP delay [ns]

TVC(eb.oh)=(1, 3, 10

- NI b 7ue+U4 | 25
po 4269+ 0.0
p1 -35.79:+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 3 14

- ¢ =31.08 [psich] ™. 7

Srua T5287125
pD 4160+ 3.4
p1 -32.18+ 0.07

M R I B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

A~ 1 nuiL563e+U4 [ 25
po 4224+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 3,7

= 1nuiL, 7use+ud | 25
po 4235+ 0.0
p1 -37.83+ 0.00

TVC(c,b ch) (1, 3

50 100
TP delay [ns]

T 41/e+u4/25
pO 4252+ 0.0
p1 -35.47 + 0,00

TP delay [ns]

TVC(c,b ch) (1, 3 15

[ C =29.40 [ps/ch]

S $71e+ud [ 25
pO 4197 0.0
-34.01+ 0.00

PR R SR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

A7 1 nun soze+V4 / 25
- po 4219+ 0.0
pl -38.26 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

- i Z5pe+04 [ 25
== po 4201+ 0.0
pl -34.94 + 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

T rnuzbse+u4 [ 25
- pO 42411 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

TrnuiLgyre+u4 [ 25
= po 4206+ 0.0
pl -34.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

AT 1 nuiLBo/e+u4 [ 25
F po 4224+ 0.0
pl -38.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= 1nuiL 5 e+ud [ 25
== po 4216+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

~ 1 nu oEBe+u4 25
- po 4269+ 0.0
pl -36.55 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T nuiasse+ud / 25
— pO 4216+ 0.0
pl -35.85+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,4,2)

K™ 1nuiLozre+V4 /25
po 4226+ 0.0
pl -37.97 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,4,6

- 1 1uiLbave+u4 / 25
- pO 4220+ 0.0
[ pl -36.44 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

Tz 1z1e+04 /25
- DO 4289+ 0.0
- pl -37.34+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,414

T p41e+u4 /25
- pD 4219+ 0.0
L p1 -35.74+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

AT 1L ozse+u4 [ 25
=, po 4227+ 0.0
pl -37.63+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

-1 nui fuoe+u4 / 25
4227+ 0.0
-35.7 + 0.0

TP delay [ns]

TVC(c,b ch) (1, 4

1)
Tonai g/ ge+u4 [ 25
- po 4277+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(C, bch) (1,4,15

Tinan g age+u4 [ 25
- po 4210+ 0.0
p1 -36.13+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,5,0

AT 1nuiasie+u4 /25
J— po 4190+ 0.0
pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (1,54

Tnun 1.4ze+04 /25
o, pO 4223 0.0
pl -35.95+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (1, 5 8

T rnuig.4sze+04 / 25
pO 4234+ 0.0
pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (1,512

Tz 1o1e+04 /25
pO 4251+ 0.0
pl -35.89+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,51

AT rnuiLblize+ud [ 25
Frase po 4195+ 0.0
pl 354+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 5

=1 nui bu3e+u4 / 25
pO 4224+ 0.0
pL -36.03+ 0.00

TP delay [ns]

TVC(c,b ch) (1 59

T nuiL 1bbe+u5 / 25
- po 4258+ 0.0
p1 -36.13+ 0.00

TP delay [ns]

TVC(cbch) (1,5,13

T nuizyyle+ud / 25
- pO 4246+ 0.0
pl -35.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (1,5,2)

A7 1 nuiosse+ud /25
Freee po 4199+ 0.0
L pl -35.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,56

- 1nur 535e+04 / 25
- pO 4241% 0.0
[ pl -36.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (1, 5 10

1000

0

T 3.04e+04 /25
-, po 4272+ 0.0
- pl -36.87 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,5,14

T rnuiLyule+u4 / 25
- pD 4244+ 0.0
| pl -35.45+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3

[ C =28.55[ps/ch

AT rnuzoure+ud [ 25
= po 4208+ 0.0
pl -35.03+ 0.00

L
50 100

TP delay [ns]

TVC(c,b ch) (1 57

- nun glze+u4 / 25
- pO 4242+ 0.0
pL -35.52:+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

T, zu9e+u4/25
- po 4280+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(C, bch) (1,5,15

T nui yzse+ud [ 25
- pO 4255+ 0.0
p1 -35.56 + 0.00

TP delay [ns]



4000

3000

2000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,11,3)

AT rnuiL41ve+ud [ 25
- po 4200+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (2,11,7

-/ i a6ae+04 / 25
- pO 4212+ 0.0
pL -35.67+ 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (2, 11 11

-1 nuipyle+ud / 25
= po 4228+ 0.0
pl -35.03+ 0.00

TP delay [ns]

TVC(cbch) (211,15

<1 nui oobe+ud / 25
= pO 4235+ 0.0
p1 -35.63+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T4 rse+u4 [ 25
.. pO 4195+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(cbch) (2,124

- i zise+u4 / 25
- pO 4218+ 0.0
pl -36.12:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2,128

Tz 34ze+04 | 25
= pO 4201+ 0.0
pl -34.68 + 0.00

TP delay [ns]

TVC(cbch) (212,12

T L4y /e+u4 [ 25
= po 4245+ 0.0
p1 -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F PO

AT 1 nuLosze+ud [ 25
4206+ 0.0
pl -38.05+ 0.00

TP delay

TVC(cbch) (2,125

F- pO

[ns]

-1 nui 308e+u4 / 25
4229+ 0.0
pl -36.52 + 0.00

TP delay

TVC(c,b ch) (2, 12

[ns]

T nugp41e+u4 / 25
4227+ 0.0
pl -35.59 + 0.00

TP delay

TVC(cbch) (212,13

e, pO
p1

[ns]

~ 1 nuiLybbe+ud / 25
4225+ 0.0
-34.7+ 0.0

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(cbch) (2.12,6

K™ 1 nuiouse+u4 /25
_- po 4217+ 0.0
o pl -37.28+ 0.00

3000

S rnuLzg/e+u4 [ 25
pe, pO 4235+ 0.0
[ pl -36.49 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

1 nuiLgs4e+U4 [ 25
- po 4234+ 0.0
- pl -34.96 + 0.00

TP delay [ns]

TVC(cbch) (212,14

~ 1 nuiL44pe+04 / 25
. pD 4242+ 0.0
L pl -35.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

AT rnuiLgyre+ud [ 25
4216+ 0.0
p1 -36.44 + 0.00

po

TP delay

TVC(c, bch) (2,12,7

- pO

[ns]

=1 nui buye+u4 / 25
4265+ 0.0
pl -37.45+ 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

= pO

[ns]

T nai rzoe+u4 [ 25
4238+ 0.0
pl -35.01+ 0.00

TP delay

TVC(cbch) (212,15

[ns]

Tinuigsie+ud [ 25
4231+ 0.0
p1 -34.98 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T rnwiLa4/e+04 /25
4202+ 0.0
pl -36.64 + 0.00

TP delay

TVC(cbch) (2,134

pO
pL

[ns]

-1 huiL bYse+ud / 25
4239+ 0.0
-39.91+ 0.00

TP delay

TVC(cbch) (2, 13 8

[ns]

T L br4e+u4 [ 25
4203+ 0.0
pl -35.86+ 0.00

TP delay

TVC(cbch) (2,13, 12

- pO

[ns]

T 345e+04 / 25
4229+ 0.0
pl -36.55+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2, 13 1)

= po

- i odve+ud 25
4220+ 0.0
pL -36.36+ 0.00

TP delay [ns]

TVC(c, bch) (2,135

=11 bybe+u4 / 25
4242+ 0.0
pl -39.38 + 0.00

TP delay [ns]

TVCEbeN)=(2 13,9

T inug glze+ud [ 25
4227+ 0.0
p1 -34,68 £ 0.00

TP delay

TVC(cbch) (213,13

e, pO
p1

[ns]

T nai sbze+ud / 25
4223+ 0.0
-35.9+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,13,2)

- po

A7 1nun quze+04 /25
4210+ 0.0
pl -36.32+ 0.00

TP delay

TVC(cbch) (2,136

pD

[ns]

T LYz /e+u4 [ 25
4252+ 0.0
pl -39.51+ 0.00

TP delay

TVC(cbch) (2,13,10

F= b

[ns]

Tz 13/e+u4 /25
4238+ 0.0
pl -35.25+ 0.00

TP delay

TVC(cbch) (2.13,14

- pD

[ns]

~ 1 nuiLgsse+u4 [ 25
4226+ 0.0
-35.8 + 0.0

PR IR SRR |
50 100

TP delay

[ns]

TVC(Cbch) (2,13,3)

AT 1L bose+ud [ 25
4224+ 0.0
pl -36.85+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(c, bch) (2,137

4000 =

[ns]

=1 nui yyve+u4 / 25
4254+ 0.0
-39+ 0.0

3000

2000

1000 C

TP delay

TVC(eheh)=(2, 13, 11

4000 [u.

[ns]

T naiL 7use+u4 / 25
4239+ 0.0
pl -36.18 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (2,13,15

4000 [,

[ns]

T nui sove+ud / 25
4227+ 0.0
-35.52+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=( 2, 14,0)

- po

AT nu BBl /25
4173+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(cbch) (2,144

- zobe+04 [ 25
4181+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

= pD

p1

©1nuig.bode+u4 / 25
4225+ 0.0
-37.3+ 0.0

TP delay

TVC(cbch) (2,14,12

= pO

[ns]

T inuiLp41e+04 / 25
4212+ 0.0
pl -35.58 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,14,1)

=, po

AT rnunLsrse+ud [ 25
4176+ 0.0
-35.88+ 0.00

p1

TP delay [ns]

TVC(c, bch) (2,145

S nu151e+04 /25
- DU 4210% 0.0
pL -37.18:+ 0.00

TP delay [ns]

TVCEebeh)=(2, 14,9

= pO

T nu.n4ze+u4 [ 25
4249+ 0.0
-37.22+ 0.00

pl

TP delay [ns]

TVC(cbch) (214,13

= pO

T nui ozye+ud | 25
4212+ 0.0
-36.97 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (2,14,2)

- po

A7 1 nuizove+u4 /25
4175+ 0.0
pl -35.66 + 0.00

TP delay

TVC(cbch) (2,146

[ns]

S 153e+04 /25
4215+ 0.0
p1 -36.44 + 0.00

- PO
- C = 27.44 [ps/ch .
S(I) 10‘0 =
TP delay [ns]

TVC(e b eh)=(2, 14,10

- DO

Tzl /4e+04 /25
4259+ 0.0
pl -37.12+ 0.00

TP delay

TVC(cbch) (2.14,14

- PD

[ns]

~ 1L pzye+u4 | 25
4210+ 0.0
-36.11 + 0.00

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,14,3)

A1 z1e+04 /25
4180+ 0.0
p1 -34.62+ 0.00

po

TP delay

TVC(c, bch) (2,14,7

= pO

[ns]

-1 nui b34e+04 / 25
4212+ 0.0
pl -35.99+ 0.00

50 1(;0
TP delay

TVC(cbch) (2, 14 1

e, pO

[ns]

T nuip41e+04 / 25
4263+ 0.0
p1 -37.44.+ 0.00

TP delay

TVC(cbch) (2,14,15

= pO

[ns]

T bzoe+u4 [ 25
4211+ 0.0
pl -35.77 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,15,0)

“inaiL4rye+ud [ 25
™, PO 4173+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (2,154

-1 i apze+04 / 25
- pO 4188 0.0
pl -35.56 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

- rnuig, /11e+u4 [ 25
- PD 4209+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

T inuiLazze+04 [ 25
- PO 4217+ 0.0
pl -35.19 + 0.00

TVC(cbch) (2,15,1)

3000

2000

1000

X- 1 iL4Zoe+U4 | 25
4000 [, po 4185+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (2,155

4000 o

3000 -

2000

1000 |-

S nu151e+04 /25
DU 4185+ 0.0
pL -34.57 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2,159

4000 e

3000

2000

1000

- naigpyle+ud / 25
DO 4236+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (215,13

4000 e

3000 -

2000

1000 [~

T 1 41e+04 /25
PO 4207+ 0.0
pl -34.78 + 0.00

TP delay

[ns]

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(cbch) (2,15,2)

X~ 1w ss4e+04 [ 25
- po 4189 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

- 150e+04 [ 25
- pO 4199+ 0.0
I pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

©1nu bzoe+u4 [ 25
- DO 4265+ 0.0
I pl -37.36 + 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

~ 1w 440e+04 [ 25
- PD 4222+ 0.0
r -35.3+ 0.0

3000

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

TVC(cbch) (2,15,3)

AT 1 nuiL4z3e+U4 [ 25
- Y 4195+ 0.0
p1 -35.52 + 0.00

TP delay [ns]

TVC(c, bch) (2,157

-1 nui byve+u4 / 25
- PO 4210+ 0.0
pL -35.96 + 0.00

50 1(;0
TP delay [ns]

TVC(ehch)=(2, 15, 11

T nuiL rove+u4 / 25
- pO 4237+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (2,15,15

T 4use+u4 [ 25
- PO 4210+ 0.0
pl -33.16 + 0.00

3000 - -1
2000 -
10 C = 30.15 [ps/ch] ™. 7]

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,0)

- Loze+ud [ 25
PO 4202+ 0.0
pl -37.99 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,0,4

T LBy /e+ud [ 25
pO 4215+ 0.0
pl -37.49. 0.00

50 100
TP delay [ns]

TVC(cbch) (3 0,8

[ C =29.50 [ps/ch]

©1nuiz.yyze+u4 | 25
- PD 4167+ 0.0
-33.89+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,0,12

~ 1 nuiLybye+ud / 25
F= PO 4239+ 0.0
pl -35.56 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1

A” 1L 4b0e+ud [ 25
) PO 4173+ 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,5

S nun183e+04 [ 25
4206+ 0.0
-36.6 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 0,9

T nuw.7y1e+ud [ 25
4210+ 0.0
-34.61+ 0.00

TP delay [ns]

TVC(cbch) (3,0,13

T gore+ud [ 25
pO 4222+ 0.0
pl -35.63 + 0.00

TP delay [ns]

TVC(cbch) (3,0,2)

4000

3000

2000

1000

X~ 1 ruze+U4 [ 25
po 4192+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(cbch) (3,06

4000

3000

2000

1000

- rnuzuyle+ud / 25
- pO 4229+ 0.0
3 pl -37.95:+ 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

4000

3000

2000

1000

- C = 29.43 [ps/ch]

©1nuiz.4uze+04 | 25
- DO 4201+ 0.0
I pl -33.98 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (3,0,14

4000

2000

1000

~ 1 nuz,use+ud [ 25
= PD 4233+ 0.0
F pl -36.06 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

R~ 1 Ui 4bae+ud | 25
PO 4200+ 0.0
pl -37.03 + 0.00

TVC(c,b ch) (3 0,7

TP delay [ns]

-1 nuz.04be+u4 / 25
PO 4236+ 0.0
pL -37.89 + 0.00

TVC(c,b ch) (3, O

100
TP delay [ns]

T o, ib/e+U4/25
pO 4207+ 0.0
pl -34.69 + 0.00

TP delay [ns]

TVC(C, bch) (3,0,15

T nui s3se+ud [ 25
4216+ 0.0
-34.61+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

K™ 1 roze+U4 [ 25
e Y 4178+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(cbch) (31,4

- 1L yube+ud / 25
pO 4199+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (3 1,8

©1nuizusve+u4 | 25
= PD 4189+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(cbch) (31,12

~ i 449e+04 / 25
4212+ 0.0
-34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

AT 1 nuiLroye+ud [ 25
"— po 4187+ 0.0
pl -36.88 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

S nun181e+04 /25
DU 4187+ 0.0
pL -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

T nai zoze+ud [ 25
DO 4195+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (31,13

T bzye+ud [ 25
PO 4220% 0.0
pl -36.64 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

X~ (re+U4 /25
po 4179+ 0.0
pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (3,1,6

- rnuz,u3ze+u4 [ 25
- pO 4206+ 0.0
I pl -36.11+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

T, r34e+04 [ 25
™ DO 4194+ 0.0
r pl -34.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

T nuiLayze+ud [ 25
- pD 4207+ 0.0
I pl -35.59 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3

AT nuiLBB3e+U4 [ 25
- Y 4201+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

- nun1yge+ud [ 25
= PO 4217+ 0.0
pL -36.54 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

SRRV uzye+u4/25
™ pO 4211+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (31,15

- by4e+u4 [ 25
- PO 4217+ 0.0
pl -35.16 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

K™ 1 nuioose+ud / 25
P po 4168+ 0.0
pl -35.59+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- i 3uze+04 | 25
P, pO 4176+ 0.0
pl -35.47 £ 0.00

TP delay [ns]

TVC(cbch) (3 2,8

©1nuizuLoe+u4 [ 25
= po 4220+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T L plse+u4 / 25
4225+ 0.0
-35.41+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,1

AT 1 nuiLroye+ud [ 25
oo, po 4189+ 0.0
pl -36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

-1 nui Bule+ud / 25
e, pO 4201% 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,9

T nu 3gbe+u4 [ 25
- pO 4234+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (3,2,13

TinuiLarie+ud /25
= pO 4225+ 0.0
pl -35.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

X~ 1 rzoe+U4 [ 25
™, po 4194+ 0.0
L pl -37.4+ 0.0

3000

- C = 26.74 [pslc .

1
50 100

TP delay [ns]

TVC(cbch) (32,6

- 1L Bzoe+u4 [ 25
- pO 4200+ 0.0
[ pl -36.32+ 0.00

TP delay [ns]

TVC(cbch) (3, 2 10

1000

0

T nuizyzse+u4 | 25
= po 4275+ 0.0
L pl -38.17 + 0.00

TP delay [ns]

TVC(cbch) (3,214

~ 1L bo0e+U4 / 25
4218+ 0.0
-35.3+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,3)

e po

x° 1 L dyae+ud | 25
4194+ 0.0
37.11 % 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 2,7

pO
pl

-1 nui bye+u4 / 25
4205+ 0.0
-35.72+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

T ame+u4/25
4267+ 0.0
-37.23+ 0.00

TP delay [ns]

TVC(C, bch) (3,215

T nui p4se+ud [ 25
4233+ 0.0
-35.26 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

AT inuioi/e+ud /25
P po 4188+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(cbch) (33,4

- 1L 3uze+u4 / 25
= pO 4209+ 0.0
p1 -34.18+ 0.00

[ C =29.26 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

©1nuz.2upe+u4 | 25
= pO 4211+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(cbch) (3,312

T 1L pl4e+ud [ 25
pO 4230+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1

X" 1L dzie+ud | 25
Fee,, po 4195+ 0.0
pL -36.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

“nu b rze+u4 [ 25
- pO 4221+ 0.0
pL -35.31% 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 3,9

~ 1 nup. 18Ye+ud / 25
= po 4220+ 0.0
p1 -34.69 £ 0.00

TP delay [ns]

TVC(cbch) (3,313

T inuiLpo/e+ud [ 25
pO 4233+ 0.0
pl -35.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,3,2)

A7 1 nui syoe+u4 / 25
- po 4212+ 0.0
o pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

- i b33e+04 / 25
- pO 4231 0.0
[ pl -35.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

©1nuiz.403e+04 / 25
- po 4248+ 0.0
- pl -35.57 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

T 1 3ye+ud /25
- pD 4215+ 0.0
L p1 -35.89 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3)

e po

AT rnuiLszie+ud [ 25
4211+ 0.0
-34.5+ 0.0

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 3,7

pO
pl

=1 nui byze+u4d [ 25
4247+ 0.0
-34.55+ 0.00

[ C =28.95 [ps/ch]

_L

50

1
100

TP delay [ns]

TVC(c,b ch) (3, 3

T, /zye+u4/25
4249+ 0.0
-36.65+ 0.00

TP delay [ns]

TVC(C, bch) (33,15

T nui p4se+ud [ 25
4237+ 0.0
-36.45+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,0

K™ 1 nuioole+ud /25
Peee.. po 4192+ 0.0
pl -36.68+ 0.00

TP delay [ns]

TVC(cbch) (34,4

- 1nuiLa83e+04 / 25
- pO 4226+ 0.0
pl -36.05:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 4,8

T 1nuig.4oze+04 / 25
= po 4209+ 0.0
-34.31+ 0.00

[ C =29.15 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,4,12

Ty e+u4 [ 25
= po 4234+ 0.0
pl -36.47 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3.4,1

AT rnuiLorye+ud [ 25
pee,, po 4189+ 0.0
pl -36.22 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,5

“nui4/ze+04 [ 25
- pO 4231% 0.0
-36.7+ 0.0

TP delay [ns]

TVC(c,b ch) (3 4,9

T a3 /e+u4 /25
= po 4229+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(cbch) (3,4,13

<1 nuiL oyve+ud / 25
- pO 4221+ 0.0
pl -37.28 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (3,4,2)

A7 1nuirs0e+04 /25
- po 4185+ 0.0
+ pl -35.77 + 0.00

3000

TP delay [ns]

TVC(cbch) (34,6

T i/ (5e+04 [ 25
- pO 4240+ 0.0
[ pl -37.39+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 4 10

T nuizyere+ud [ 25
4239+ 0.0
-35.8+ 0.0

TP delay [ns]

TVC(cbch) (3,4,14

1 nuiLpsbe+u4 / 25
= pD 4221+ 0.0
L p1 -36.87 + 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,4,3)

AT rnun L /1e+04 /25
== po 4204+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(c,b ch) (3 4,7

S nui /rye+u4 / 25
- pO 4247+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 4

T, /a/e+u4/25
e pO 4243+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(C, bch) (34,15

Tonan15/e+u4 /25
P, 4224+ 0.0
-36.11+ 0.00

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A7 1nun szse+u4 /25
Frcea. po 4200+ 0.0
pl -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

T 1 sse+u4 [ 25
. pO 4212 0.0
p1 -35.34+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 5,8

T rnug.uroe+u4 [ 25
- po 4238+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

pO
p1

T 1 4ne+ud /25
4292+ 0.0
-36.33+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT rnunL3rse+ud [ 25
I e po 4226+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (3 55

=i bape+u4 [ 25
=3 4202+ 0.0
-34.67 + 0.00

[ C =28.84 [ps/ch] =]

50 1(;0
TP delay [ns]

TVC(c,b ch) (3 59

T nu.o/4e+04 25
- po 4268+ 0.0
pl -35.34 + 0.00

TP delay [ns]

TVC(cbch) (3,5,13

Tanai3ze+ud [ 25
pO 4280+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

TP delay [ns]

TVC(cbch) (3,56

K™ 1 nui4uoe+u4 / 25
. po 4230+ 0.0
- pl -35.87 + 0.00

- rnuiLblze+u4 [ 25
fo, pO 4206+ 0.0
[ pl -34.36+ 0.00

- C = 29.10 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3, 5 10

1 nuzgve+u4 | 25
- po 4282+ 0.0
N p1 -34.9+ 0.0

- C = 28.65 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

~ 1L p4se+u4 | 25
pD 4280+ 0.0
pl -36.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3

AT rnunL4zse+ud [ 25
s, po 4238+ 0.0
pl -35.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui bule+ud / 25
- pO 4218+ 0.0
p1 -34.33+ 0.00

[ C =29.13 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 5

AN UUée+U4/25
- po 4288+ 0.0
pl -35.02+ 0.00

I C =28.56 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (3,5,15

T nui pzze+ud [ 25
- pO 4293+ 0.0
p1 -36.88 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0)

K™ 1nui 3rse+ud [ 25
4174+ 0.0
-34.14 + 0.00

TP delay [ns]

TVC(cbch) (36,4

- pO

T 1 3be+04 /25
4238+ 0.0
-36.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (3 6,8

=1 nug,

153e+04 /25
4227+ 0.0
-36.55+ 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T i 13pe+u4 / 25
4220+ 0.0
-35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(c,b ch) (3,6,

Sl

e, po
pL

1

nui zyse+ud | 25
4185+ 0.0
-34.61+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 6,5

- pO

S nur 1be+04 /25
4254+ 0.0
-37.52+ 0.00

TP delay [ns]

TVC(c,b ch) (3,6,9

X

nug zsze+u4 [ 25
4255+ 0.0
-36.2+ 0.0

1
100

50
TP delay [ns]
TVC(c,b Ch) (3, 6 13)
S nun g 14e+04 /25
pO 4232% 0.0
p1 -35.9 + 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (3,6,2)

=, PO

X~ 1w s40e+04 [ 25
4202+ 0.0
p1 -35.26 + 0.00

TP delay

TVC(cbch) (36,6

P~ b

[ns]

- 1 nurLbyye+u4 / 25
4257+ 0.0
pl -36.89 + 0.00

50 10'0
TP delay

TVC(cbch) (3, 6 10

= o

[ns]

- i 91e+04 1 25
4248+ 0.0
p1 -35.28+ 0.00

TP delay

TVC(cbch) (3,6,14

[ns]

~ i 1upe+u4 / 25
4244+ 0.0
-36.5+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3)

e po

p1

AT rnuiLzrze+u4 | 25
4191+ 0.0
-34.58 + 0.00

TVC(c,b ch) (3 6,7

o= pO
pl

1
100

TP delay [ns]

- nui obe+u4 / 25
4260+ 0.0
-37.89+ 0.00

100

TP delay [ns]

TVC(c,b ch) (3, 6

e pO

T dee+U4/25
4263+ 0.0
-36.74 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (3, 6 15

pO
p1

S zrze+ud [ 25
4237+ 0.0
-35.6 + 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0

AT 1nui4se+04 /25
.. po 4194+ 0.0
pl -35.16+ 0.00

TP delay [ns]

TVC(cbch) (37,4

- i zs4e+04 [ 25
e, pO 4203+ 0.0
p1 -35.46+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T rnuizusse+u4 | 25
= pO 4211+ 0.0
p1 -37.04 + 0.00

TP delay [ns]

TVC(cbch) (3,7,12

pO
p1

Ty sze+ud /25
4223+ 0.0
-34.69+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,71

AT 1L seoe+ud [ 25
P, po 4199+ 0.0
pl 35+ 0.0

TP delay [ns]

TVC(c,b ch) (3 7,5

S nuiL 3/ e+04 [ 25
e, pO 4192+ 0.0
pL -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

T nun goe+u4 [ 25
po 4238+ 0.0
pl -36.54 + 0.00

TP delay [ns]

TVC(cbch) (3,7,13

Tinuiso1e+ud [ 25
pO 4207+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

A~ 1 nui osae+04 / 25
_- po 4214+ 0.0
L pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (37,6

- i 243e+04 [ 25
- pO 4211% 0.0
[ pl -35.86 + 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Tz 148e+04 / 25
o=, po 4253+ 0.0
o pl -36.78+ 0.00

TP delay [ns]

TVC(cbch) (37,14

pD
pl

~1nuiLzove+ud / 25
4208+ 0.0
-34.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

AT rnun 1be+u4 /25
=3 po 4214+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,7

-1 nun bz3e+u4d / 25
- pO 4224+ 0.0
pL -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 7

Sy /1e+u4/25
= po 4252+ 0.0
pl -36.98 + 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

Tinuis3/e+ud /25
po 4214+ 0.0
p1 354+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0)

T Loye+ud /25
- pO 4217+ 0.0
p1 -37.33+ 0.00

TP delay [ns]

TVC(cbch) (3,84

- 1 lyze+u4 [ 25
po 4220+ 0.0
pl -35.31+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (3 8,8

- s Asue+ud [ 25
pD 4248+ 0.0
p1 -38.23 0.00

1
50 00

TP delay [ns]

TVC(cbch) (3,812

©rnuiLgs4e+04 [ 25
po 4236+ 0.0
pl -36.14 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT 1 nuiLozye+u4 [ 25
. po 4196+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

~1nui 41 /e+04 / 25
pO 4208+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

T a4y /e+ud [ 25
pO 4264+ 0.0
p1 -37.58 £ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 8 13

Tinai s1ze+ud [ 25
pO 4232+ 0.0
pl -36.05+ 0.00

TP delay [ns]

4000

2000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (3.8,2)

1000

Tnun Looe+ud [ 25
[, po 4198+ 0.0
L pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

- rnuiLa11e+04 / 25
4216+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 8, 10

1000

0

- 1 iz s81e+04 1 25
- pO 4270+ 0.0
[ pL -37.94 0.00

3000

TP delay [ns]

TVC(cbch) (3,814

-1 z5se+u4 [ 25
- pD 4230+ 0.0
L p1 -36.33+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

A1 nuiL 7ure+ud [ 25
- po 4228+ 0.0
pL -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

S nun1T/1e+04 /25
= po 4237+ 0.0
p1 -36.09 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, 8

T, 4a9e+u4/25
= pO 4274+ 0.0
pl -38.07 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 8 15

-1 so4e+ud [ 25
e, pO 4240+ 0.0
p1 -35.67 + 0.00

TP delay [ns]



TVE(ED.Ch)=(3,9,0) TVE(EDCh)=(3,9, 1) TVE(EDCh)=(3,9,2) TVEEDe)=(3,9, 3)
A™ 1L 435e+04 / 25 A1 size+ud | 25 AT 1L 4/ze+04 [ 25 A~ 1w bpbe+ud [ 25
4000 fmm,, po 4213+ 0.0 4000 fe,, po 4229+ 0.0 4000 fm PO 4229+ 0.0 4000 fs PO 4227+ 0.0
pl -35.46 + 0.00 pl -35.95+ 0.00 F pl -35.72+ 0.00 pl -34.87 + 0.00

3000

E 3000 - 3000 - 3000 4

2000 -1 2000 = 2000 = 2000

1000 E 1000 B 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

“ g (?loeﬂjd 125 Sornar i)/BE+U4/25 LA U)daeﬂjd 125 T nar B)b/E+04/25
4000 [, pO 4206+ 0.0 4000 Fem, pO 4214+ 0.0 4000 fme, pO 4229+ 0.0 4000 fs pO 4239+ 0.0
Pl 3489+ 0.00 Pl 35963 0.00 [ PL_ -35.84% 0.00 Pl -34.96% 0.00
3000 _ 3000 E 3000 ] 3000 - E
2000 ] 2000 B 2000 ] 2000 B
1000 C q 1000 7] woor C = 27.90 [ps/ch ] woor C = 28.60 [ps/ch] ]
1 ' 1 [ 1 -
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb,ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
T, r13e+04 / 25 T nai r35e+u4 /25 T, (zoe+u4 | 25 T nuiLy/3e+ud [ 25
4000 o, pO 4214+ 0.0 4000 4226+ 0.0 4000 fo DO 4247+ 0.0 4000 o, p0 4254+ 0.0
pl -34.83+ 0.00 -35.4 + 0.0 F pl -34.82+ 0.00 pl -35.88+ 0.00

-1 3000

3000 T 3000 - 3000 1

2000 1 2000 2000 ] 2000

- 1000

1000 ] 1000

1000

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(cbch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

1L byve+u4 / 25 T nui o3ve+ud / 25 T, rzse+u4 | 25 71 nui pbae+ud / 25
4000 e, pO 4269+ 0.0 4000 [, pO 4247+ 00 4000 [, PD 4253+ 0.0 4000 o, pO 4246+ 0.0
pl -36.47 + 0.00 pl -36.63+ 0.00 F pl -37.75+ 0.00 pl -36.89 + 0.00

- 3000

3000 .

— 3000 - 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (3, 10 0) TVC(c,b Ch) (3,10,1) TVC(c,b Ch) (3,10,2) TVC(c,b Ch) (3,10,3)
- i sbse 04 ] 25 A1 Lahze+Ud ] 25 A 1 adoe+U4 ] 25 A~ 1 adoe+Ud | 25
4000 fm,, pO 4217+ 0.0 4000 fo, po 4219+ 0.0 4000 (e, po 4217 0.0 4000 o, po 4217+ 0.0
Pl -36.85+ 0.00 pl  -37.83 0.00 r Pl -37.32% 0.00 Pl -35.91% 0.00

- 3000

3000 - 3000 -1 3000

2000 1 2000 -1 2000 -1 2000

1000 - 1000 =1 1000 =1 1000

0 0 50 0%
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(CbCh) (3, 10 4) TVC(CbCh) (3, 10 5) TVC(CbCh) (3, 10 6) TVC(CbCh) (3, 10 7)
-1 huiLb3be+ud / 25 “ i g2/e+u4 [ 25 -1 Ui bobe+u4 / 25 =1 nui yuse+u4 / 25
4000 pO 4203+ 0.0 4000 e, pO 4210+ 0.0 4000 = 4222+ 0.0 4000 o, pO 4231% 0.0
Pl 36,66+ 0.00 Pl 36,67 000 b 365+ 0.0 Pl -37.85: 000

3000 - 3000 =1 3000 -1 3000

2000~ E 2000 E 2000 E 2000

—- 1000 [~ C

w000 C E 1000 E 1000 E
0 EY o 0 0 EY o 0 5 T
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(eh.ch=(3, 10,8) TVC(eh.eh=(3, 10,9) TVC(eb,ch)=(3, 10,10) TVC(ebe)=(3, 10,11)
© i bz4e+04 [ 25 -1y bbbe+u4 [ 25 © 1 nug.y45e+u4 / 25 <1 yobe+u4 / 25
4000 e, pO 4248+ 0.0 4000 e, pO 4262+ 00 4000 [, DO 4275+ 00 4000 foe, p0 4272 0.0
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e, pO 4206+ 0.0
pL -36.07+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 5

SRR b‘Jie+U4/25
- po 4265+ 0.0
pl -37.02+ 0.00
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TVC(C, bch) (4,5,15

T nai syse+ud [ 25
= po 4228+ 0.0
p1 -34.86+ 0.00

TP delay [ns]
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TVC(cbch) (46,4

S Z1e+u4 (25
.. po 4194+ 0.0
pl -37.08 + 0.00

TP delay [ns]

TVC(cbch) (4 6,8

- Zsrerud | 25
pD 4216+ 0.0
p1 -35.99+ 0.00
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- rnuiLpr1e+ud [ 25
po 4233+ 0.0
pl -36.1+ 0.0
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,61

X 1LY e+ud | 25
F . po 4197 + 0.0
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TP delay [ns]
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- 1nu 3nle+ud / 25
e pO 4187+ 0.0
pL -37.05+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,9

-y S3ue+ud ] 25
- pO 4223+ 0.0
pL -36.08:+ 0.00
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TP delay [ns]

TVC(cbch) (46,6

1. 291e+04 [ 25

e pO 4194 0.0
[ pl -37.03+ 0.00

TP delay [ns]

TVC(eb.oh)=(4, 6, 10

0

1 nuiz ogle+ud / 25

-, po 4242+ 0.0
o pl -36.75+ 0.00

TP delay [ns]
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1 nui bz3e+ud | 25

= pD 4211+ 0.0
[ p1 -35.75:+ 0.00
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A1 nuiL4une+ud [ 25
4213+ 0.0
-37.73+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7
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- pO
p1

10e+04 [ 25
4204+ 0.0
-36.33+ 0.00

TP delay [ns]

TVC(c,b ch) (4, 6

T a4=e+u4/25
4245+ 0.0
-36+ 0.0

1
50 00
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TVC(c,b ch) (4, 6 15

T nuiagse+ud [ 25
4229+ 0.0
-35.85+ 0.00
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K™ 1nui4uie+ud /25
4198+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(cbch) (47,4

e, PO
pL

-1 nuiL438e+04 / 25
4210+ 0.0
-36.95+ 0.00

1
50 100

TP delay [ns]

TVC(eb,oh)=(4, 7,8

E pD

1 nuz5yoe+u4 | 25
4223+ 0.0
-36.32+ 0.00

p1

TP delay [ns]

TVC(cbch) (4,7,12

T gs1e+u4 / 25
4248+ 0.0
-35.61+ 0.00

PR B SRS |
50 100
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TVC(cbch) (4,7,1)

= po

pl

A 1L auze+ud [ 25
4212+ 0.0
-36.21+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,5

“nuibl/e+u4 [ 25
4213+ 0.0
-36.18 + 0.00

TP delay [ns]

TVC(c,b ch) (4 7,9

[, po
pl

T nugogle+ud / 25
4255+ 0.0
-36.32 + 0.00

TP delay [ns]

TVC(cbch) (4,7,13

T nui sose+ud 25
- pO 4253+ 0.0
pl -36.17 + 0.00
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A7 1nun syze+04 /25
4204+ 0.0
-36.26 + 0.00

TP delay [ns]

TVC(cbch) (4,7,6

pO
p1

“rnun 1 bze+ud [ 25
4218+ 0.0
-36.27 + 0.00

TP delay [ns]

TVC(cbch) (47,10

pO
pl

© 1 nuz189e+u4 / 25
4252+ 0.0
-35.89+ 0.00

TP delay [ns]
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T rnuiLzrve+ud | 25
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L pl -35.35+ 0.00
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-36.34+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

pO
pl

- rnui bree+u4 / 25
4229+ 0.0
-35.16+ 0.00

TVC(c,b ch) (4, 7

TP delay [ns]
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-1 nui buse+u4 / 25
4255+ 0.0
-36.66 + 0.00
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- pO 4253+ 0.0
p1 -35.18+ 0.00

TP delay [ns]
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pL

- i 488e+u4 / 25
4188+ 0.0
-36.23+ 0.00
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TP delay [ns]

TVC(cbch) (4 8,8

©1nuiL4o0e+U4 / 25
4194+ 0.0
-34.85+ 0.00

TP delay [ns]
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T rnuiL4ure+u4 [ 25
4202+ 0.0
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-1 nui bbye+ud / 25
4194+ 0.0
-36.63 + 0.00

TP delay [ns]
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= po
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Tonan33e+04 125
4211+ 0.0
-34.71+ 0.00
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A7 1 nuiozye+u4 /25
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-36.01+ 0.00
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TP delay [ns]

TVC(cbch) (4,86

- i b11e+u4 / 25
4211+ 0.0
-36.42 + 0.00

- pO

: o

L C = 27.46 [ps/ch .
5(') 10'0 =

TP delay [ns]

TVC(cbch) (4, 8 10

= o

T nuiLgE1e+u4 / 25
4238+ 0.0
-35.57 + 0.00

pl
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-36.1+ 0.0
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pl
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4204+ 0.0
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. pO

T 5a=e+u4/25
4228+ 0.0
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TVC(C, bch) (4,815

T naisu/e+u4 /25
4204+ 0.0
-34.8+ 0.0
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TVe(ED.ch)=(4,9,0) TVe(EDCh)=(4,9, 1) TVC(EDCh)=(4,9,2) TVEEDeh)=(4,9,3)
AT i Sose+ud / 25 A” 1w 3ove+ud [ 25 A™ 1L 4use+ud [ 25 A1 azse+ud | 25
4000 fe,, po 4229+ 0.0 4000 fmm,, po 4227+ 0.0 4000 fm, po 4231 0.0 4000 e, po 4251+ 0.0
pl -36.48 + 0.00 pl -36.59 + 0.00 r pl -36.78 + 0.00 pl -37.06 + 0.00

3000

-1 3000 =1 3000 =1 3000 -1

2000 - 2000 =1 2000 =1 2000

1000 - 1000 =1 1000 =1 1000

0, 0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(494) TVC(cbch)(495) TVC(cbch)(496) TVC(cbch)(49 )
11 531e+04 [ 25 Sornar 9934 /25 - rnuiLa11e+04 / 25 1L 8ze+u4 | 25
4000 pO 42131 00 4000 pO 42212 0.0 4000 fe, pO 4243+ 0.0 4000 [, pO 4250+ 0.0
pl -36.42:+ 0.00 pL -35.86+ 0.00 3 pl -37.24+ 0.00 pL -37.14+ 0.00
3000 [ B 3000 — 3000 — — 3000 B
2000~ B 2000 E 2000 — — 2000 [ e
1000 C - 1000 - 1000:— C =26.85 [pS/Ch — 1000 C -
0 EY o 0 EY 0 0 5 0o
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebch)=(4,9,8) TVCebeh)=(4,9,9) TVC(ebeh)=(4,9, 10) TVC(eh.eh)=(4 9, 11)
© i, zgge+ud [ 25 T rpe+u4 [ 25 T nu.20/e+04 1 25 -1 gove+u4 / 25
4000 pO 4217+ 0.0 4000 pO 4237+ 0.0 4000 o DO 4238+ 0.0 4000 o, 4247+ 0.0
pl -34.85+ 0.00 pL -34.37+ 0.00 L pl -33.49+ 0.00 -34.39+ 0.00
3000 B 3000 - 3000 ] 3000 E
2000 N 2000 |- E 2000 [ ] 2000 |- B
1000 1 w00 C = 29.09 [ps/ch] - 7] 1000:- C =29.86 [ps/ch] ™., _ wor C = 29,08 [ps/ch] .. ]
1 1 - [ 1 1 ~- E 1 1 "
50 00 0 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (4,9,12) TVC(cbch) (4,9,13) TVC(cbch) (4,9,14) TVC(cbch) (4,9,15)
Tinun L obe+u4 /25 T 38 /e+u4 /25 TnuiLg1/e+ud [ 25 T 433e+04 [ 25
4000 pO 4243+ 0.0 4000 pO 42441 0.0 4000 . 4228+ 0.0 4000 o, pO 4248+ 0.0
pl -35.83+ 0.00 pl -36.08 + 0.00 r -34.07 £ 0.00 pl -35.39+ 0.00
3000 e 3000 1 3000} ] 3000 E
2000 E 2000 — 2000 ] 2000 E
1000 E 1000 1 r 1 ]
wor C = 29.35 [ps/ch] ™, ] 1000
. e ]
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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© L usse+u4 / 25
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-35.18+ 0.00
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TP delay [ns]

TVC(cbch) (4,104

E pO
pL

S i 1.29e+04 1 25
4211+ 0.0
-35.14 + 0.00

TP delay [ns]

TVC(cbch) (4, 10 8

T g4.10e+04 /25
- po 4218+ 0.0
p1 -36.27 + 0.

-36.27 + 0.00
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T L4 roe+u4 / 25
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AT rnunLssLe+ud [ 25
4185+ 0.0
pl -35.03+ 0.00

TP delay

TVC(c, bch) (4,10,5

pO
pl

[ns]

~ 1 nui1/0e+04 / 25
4205+ 0.0
-34.94 % 0.00

50 1(;0
TP delay

TVC(c, bch) (4, 10 9

e, po

[ns]

T nun 4.09e+04 / 25
4239+ 0.0
pl -36.27 + 0.00

TP delay

TVC(C, bch) (410,13

pO
p1

[ns]

T nuiazye+ud [ 25
4257+ 0.0
-36+ 0.0

TP delay
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TVC(CbCh) (4,10,2)

= po

AT 1nunz4ze+04 /25
4179+ 0.0
p1 -34.82+ 0.00

TP delay

TVC(cbch) (4,10,6

[ns]

- i b3ze+u4 [ 25
4227+ 0.0
pl -36.44 + 0.00

- pO
L C = 27.44 [ps/ch .
5(') 10'0 =
TP delay [ns]

TVC(cbch) (4, 10 10

1000

0

= o

Tz 13ze+04 | 25
4266+ 0.0
-37.2+ 0.0
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TVC(c, bch) (4,10,7

wr

= pO

[ns]

2822125
4232+ 0.3
pl -35.54+ 0.01

TP delay

TVC(ehch)=(4, 10, 11

e pO

[ns]

T nui o3be+u4 / 25
4257+ 0.0
pl -35.76 + 0.00

TP delay

TVC(cbch) (4,10,15

e, po

[ns]

Tinuizsie+ud [ 25
4230+ 0.0
p1 -35.62+ 0.00

TP delay

[ns]
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A7 1 nui4uye+ud / 25
.. po 4164+ 0.0
pl -33.53+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

-1 nuiLa38e+u4 / 25
- pO 4226+ 0.0
p1 -35.41% 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

T, (43e+04 | 25
- pO 4224+ 0.0
pl -36.63 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

X~ 1 4p1e+04 /25
= po 4237+ 0.0
pl -36.56 + 0.00
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1 1
50 100

TP delay [ns]

TVC(cbch) (4,11,5

-1 nui493e+04 / 25
- pO 4217+ 0.0
-35.9+ 0.0

50 1(;0
TP delay [ns]

TVC(eb.eh)=(4, 11, 9

T 1 nup.345e+04 / 25
- pO 4243+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c, bch) (411,13

T inui syle+ud / 25
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pl -36.63+ 0.00
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50 100
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TVC(cbch) (4,11,6

T L6/ /e+V4 [ 25
pe, pO 4236+ 0.0
[ 368+ 0.0

TP delay [ns]

TVC(e.bch)=(4, 11, 10

Tz 1 rpe+u4 | 25
- po 4249+ 0.0
L pl -34.97 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1L bz/e+04 [ 25
- po 4226+ 0.0
L pl -35.33+ 0.00
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AT 1 nuiLzsve+ud [ 25
- po 4183+ 0.0
pl -33.07 + 0.00

[ C=30.24 [ps/ch] ». ]

1 1
50 100

TP delay [ns]

TVC(cbch) (4,11,7

- 1nui sble+u4 / 25
- pO 4249+ 0.0
p1 -36.41% 0.00

TP delay [ns]

TVC(cbch) (4, 11 11

T nuiLagse+ud [ 25
= pO 4251% 0.0
p1 -35.71+ 0.00

TP delay [ns]

TVC(c, bch) (411,15

Tinaizo/e+ud [ 25
e pO 4224+ 0.0
p1 -35.24 + 0.00

TP delay [ns]
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1000

TVC(CbCh) (4, 12 0)

~ruiLb4pe+U4 [ 25
4181+ 0.0
-34.61+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,124

- i bole+ud / 25
[, PO 4203+ 0.0
pl -36.83+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 12 8

Tz roe+u4 [ 25
= po 4198+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (412,12

T Ly e+u4 [ 25
pO 4214+ 0.0
pl -35.98 + 0.00

TP delay [ns]
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TP delay [ns]

TVC(c, bch) (4,125

-1 bZoe+u4 / 25
e, pO 4206+ 0.0
pL -36.29+ 0.00

TP delay [ns]

TVC(c, bch) (4,12,9

Tinu 1) e+ud [ 25
= po 4212+ 0.0
p1 -36.44 + 0.00

TP delay [ns]

TVC(C, bch) (412,13

- T 1 nuiL ooye+ud / 25
- pO 4196+ 0.0
pl -35.48 + 0.00
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50 100

TP delay [ns]

TVC(cbch) (4.12,6

1L b44e+04 | 25
[F-e. pO 4208+ 0.0
- pl -36.17 + 0.00

AT 1nuoize+ud /25
__— po 4191+ 0.0
o pl -33.92+ 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

T nug.z4ze+04 | 25
po 4239+ 0.0
pl -35.92+ 0.00

TP delay [ns]
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T 1ooe+ud /25
pD 4198+ 0.0
pl -35.43+ 0.00
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=3 po 4194+ 0.0
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TP delay [ns]

TVC(c, bch) (4,12,7

-1 nui babe+u4 / 25
- pO 4219+ 0.0
pL -36.56+ 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (4, 12 11

1 nui p4ze+04 [ 25
e pO 4234+ 0.0
pl -35.39+ 0.00

TP delay [ns]

TVC(cbch) (4,12,15

- Tonan 1 a3e+ud [ 25
po 4204+ 0.0
-35.28 + 0.00

TP delay [ns]
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TVC(cbch) (5,4, 12

T nuiLog1e+u4 / 25
- PO 4204+ 0.0
pl -35.21+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (54,1

AT 1 nuiLzzse+ud | 25
- Y 4171+ 0.0
p1 -33.73+ 0.00

[ C =29.64 [ps/ch]

_L 1
50 100

TP delay [ns]

TVC(c,b ch) (5 4,5

S nun1.38e+04 [ 25
- DU 4200+ 0.0
pL -35.83+ 0.00

TP delay [ns]

TVC(c,b ch) (5 4,9

-1 nup.gooe+ud | 25
DO 4248+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (54,13

T b3ze+u4 [ 25
- PO 4212% 0.0
pl -35.75+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (5,4,2)

X~ 1sre+U04 /25
™, po 4183+ 0.0
I pl -35.19 + 0.00

3000

TP delay [ns]

TVC(cbch) (54,6

T 1.35e+04 /25
- pO 4221 00
H PL_ 3592+ 0.00

TP delay [ns]

TVC(cbch) (5, 4 10

Tz 1 rve+u4 | 25
F DO 4246+ 0.0
r pl -35.31+ 0.00

TP delay [ns]

TVC(cbch) (54,14

T nuiLbuse+u4 / 25
- PD 4206+ 0.0
I pl -34.79 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,4,3)

AT 1nun La4e+04 /25
- Y 4196+ 0.0
p1 -34.55+ 0.00

TP delay [ns]

TVC(cbch) (54,7

-1 nui 444e+04 / 25
- PO 4216+ 0.0
pL -34.97  0.00

TP delay [ns]

TVC(c,b ch) (5, 4

T b/ie+U4/25
F= p0 4265+ 0.0
pL -36.52:+ 0.00

TP delay [ns]

TVC(C, bch) (54,15

T ayre+u4 [ 25
- pO 4206+ 0.0
pl -35.02 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(c,b,ch)=(5,5,0)

T AT b/y8/25
™, po 4184+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (55,4

- b1ze+u4 [ 25
= pO 41841 0.0
pl -36.16 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 5,8

T rnug.04/e+04 /25
4223+ 0.0
-36.8+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,5, 12

“anun g 4re+ud [ 25
- PO 4225+ 0.0
pl -35.83 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51

A 1uiLdsierud | 25
e, LY 4204+ 0.0
pL -36.86 + 0.00

TP delay [ns]

TVC(c,b ch) (5 55

- nun bzge+u4 [ 25
e, pO 4191% 0.0
pL -36.28+ 0.00

TP delay [ns]

TVC(c,b ch) (5 59

~naigzyle+ud [ 25
- DO 4242+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (5,5,13

T b3ve+u4 [ 25
- PO 4222+ 0.0
pl -36.43 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (5,52)

X~ 1L sore+U4 /25
- po 4187+ 0.0
r pl -36.16 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

-1 nurLbyze+ud [ 25
4186+ 0.0
-36.51+ 0.00

TP delay [ns]

TVC(cbch) (5, 5 10

©1nuz154e+04 / 25
- DO 4235+ 0.0
I pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

T il r9e+u4 [ 25
™ pD 4232+ 0.0
I pl -36.6 + 0.0

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

R™ i 4rae+04 [ 25
e Y 4212+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nun B38e+u4 / 25
= PO 4218+ 0.0
pL -37.19:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (5, 5 11

- orle+ud / 25
- pO 4247+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(C, bch) (5.5,15

T 1 43e+04 /25
4226+ 0.0
-35.81+ 0.00

PR I S S |
50 100

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
AT 1L 4zze+04 [ 25 A~ 1w ag5e+U4 [ 25 AT 1L 4s/e+u04 [ 25 A~ 1w byve+ud [ 25
4000 =— PO 4181+ 0.0 4000 =— po 4174+ 0.0 4000 _=- po 4194+ 0.0 4000 un, po 4201+ 0.0
pl -34.85+ 0.00 pl -34.48 + 0.00 F pl -34.52+ 0.00 pl -34.94 + 0.00

- 3000

3000 E 3000 [ - 3000 4

2000 4 2000 [ - 2000~ - 2000

1000 ] ol C = 29.00 [ps/ch] ] wol ¢ = 28.97 [ps/ch] ]
% e : & ] % 4
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (5.6, TVC(cbch) (56,6 TVC(c, bch) (56,7

“ g :?Aoeﬂjd 125 4000 ~nur ';?ULEH)A/ZE S, l)<1e+U4 125 Sonarg, /)bbe+l)4/25
4000, pO 4193+ 0.0 pO 4189+ 0.0 4000 e, pO 4209+ 0.0 4000 e, pO 4199+ 0.0
Pl -3534%0.00 Pl -35.66+ 0.00 L pl -36.29+ 0.00 Pl -35.14% 0.00
3000~ - 3000 1 3000~ ] 3000 1
2000~ E 2000 - 2000 ] 2000 [ -
ol ¢ ] 1000 ] wo0or C = 27.56 [ps/ch ] woF C = 28.46 [ps/ch ]
1 L= o 1 1 - 1 -
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(5,6,8) TVC(eb,oh)=(5,6,9) TVC(eb.oh)=(5, 6, 10) TVC(e.heh)=(5, 6, 11)
1 nuig.4uoe+u4 / 25 -1 nuiL yyse+us / 25 T rnuzgole+ud | 25 - nui gbze+u4 [ 25
4000 f, PD 4214+ 0.0 4000 fo, DO 4233+ 0.0 4000 __- DO 4249+ 0.0 4000 o, pO 4237+ 0.0
pl -34.57 + 0.00 pl -34.43 + 0.00 r pl -35.65+ 0.00 pl -34.48 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 B 2000 [ E 2000 2000 [

1000 1000

] woo C = 29.04 [ps/ch] wor C = 29.00 [ps/ch]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (5,6, 12 TVC(cbch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5,6, 15

T rnuiLpL/e+u4 [ 25 TinuiLpl/e+ud /25 T, ruse+u4 [ 25 T inan 1 ooe+ud [ 25
41000 o, PO 4234+ 0.0 4000 b, PO 4227+ 0.0 4000 - PD 4231+ 0.0 4000 po, PO 4237+ 0.0
pl -36.38 + 0.00 pl -36.35+ 0.00 r pl -36.73+ 0.00 pl -36.74+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (5,7,0) TVC(c,b Ch) (5,7,1) TVC(c,b Ch) (5,7,2) TVC(c,b Ch) (5,7,3)
K- Sarer0a ] 25 K- 1 Save+ua | 25 K- Sare+041 25 K- L4 se+Ud ] 25
000, po 4215+ 0.0 4000, po 4229+ 0.0 4000 fm po 4233+ 0.0 4000 fmm, po 4251+ 0.0
Pl 3512+ 0.00 pl -35.7+ 0.0 [ pl -35.1% 0.0 pl  -35.63: 0.00

- 3000

3000 - 3000 -1 3000 = N

2000 — 2000 1 2000 2000

1000 - 1000 1000

] wol- C = 28.49 [ps/ch

_L 1 | 1 ] _1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

S 25Ie+04 125 T rnar 24LE+U4/25 ~ g 2&be+U4 125 T nar b)sz+U4/25
4000 pO 42451 0.0 4000 e, pO 42481 0.0 4000 fem, pO 4246+ 0.0 4000 fr, pO 42531 0.0
PL_ -35.22%000 Pl -3551% 0.00 [ L -3573% 000 Pl -35.44%000
3000 ] 3000 - 3000 5 3000 | 4
2000 ] 2000 - 2000 . 2000 |- ]
1000 ] w000 C ] wor C = 27.98 [ps/ch ] woF C = 28.21 [ps/ch ]
1 - o 1 . 1 -
50 00 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

T nup4/e+04 /25 Trnur1u1e+u5/ 25 ~ 1, (5oe+u4 / 25 T 95=e+u4/25
4000 e pO 4223+ 0.0 4000 [ pO 4249+ 0.0 4000 [, DO 4270+ 0.0 4000 4262+ 0.0
pl -36.28:+ 0.00 pL -36.58+ 0.00 3 pl -36.38:+ 0.00 355+ 0.0

3000

1 3000 -1 3000 =1 3000 -

2000 B 2000 = 2000 2000

1000 -1 1000

T 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(57l ) TVC(cbch)(5713) TVC(cbch)(57l ) TVC(cbch)(5715)
T L, r3pe+u4d / 25 T 1 nuiLpusbe+ud / 25 ~ 1 nuiLpuse+u4 / 25 T nuiasye+ud [ 25
4000 pO 4269+ 0.0 4000 pO 4279£ 00 4000 fomm PD 4272+ 00 4000 fam, pO 4275£ 00
Pl -35.71 0.00 p1 -36.6 + 0.0 L pl -36.02+ 0.00 p1 -36.27 + 0.00

- 3000

3000 1 3000 -1 3000 .

2000 - 2000 T 2000 E 2000

1000 ] 1000 T 1000 E 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0

A7 nuiazae+04 /25
Frcea po 4200+ 0.0
pl -36.32 0.00

TP delay [ns]

TVC(cbch) (58,4

- 1L Buze+ud / 25
pO 4228+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(cbch) (5 8,8

T i r1ze+04 [ 25
- po 4226+ 0.0
pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (5,812

T 1 ope+ud /25
= po 4223+ 0.0
p1 -35+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

AT 1nuiLoz/e+u4 [ 25
Frase po 4207+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

- nui uze+u4d [ 25
[P, pO 4218+ 0.0
pL -35.18 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

Tinuanyyle+ud / 25
- pO 4246+ 0.0
pl -35.73 + 0.00

TP delay [ns]

TVC(cbch) (5.8,13

T inuibzie+ud [ 25
- pO 4224+ 0.0
pl -36.09 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

- C = 28.37 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (58,6

K™ 1 nunzyae+04 /25
P, po 4212+ 0.0
- pl -35.24 + 0.00

=1 nurL ysge+ud / 25
pO 4229+ 0.0
pl -34.74+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

1000

T b rze+u4 [ 25
. po 4266+ 0.0
- pl -35.95+ 0.00

TP delay [ns]

TVC(cbch) (5,814

1 nuiL49pe+u4 / 25
- pD 4228+ 0.0
L -34.35+ 0.00

- C = 29.11 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3

AT i izre+ud |25
=, po 4211+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

-1 nui Yuse+u4 / 25
- pO 4243+ 0.0
-35.3+ 0.0

TP delay [ns]

TVC(c,b ch) (5, 8

Sy //e+u4/25
4257+ 0.0
-34.76 + 0.00

[ C=28.77 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (5.8,15

T inuib/ae+u4 /25
= pO 4242+ 0.0
p1 -36.02+ 0.00

TP delay [ns]



TVC(cbch) (5,9,0)

4000

3000

2000

1000

Ty zze+ud /25
pO 4185+ 0.0
pl -32.92+ 0.00

C=30.37 [ps/ch] ™. 1]

| 1
50 100

TP delay [ns]

TVC(cbch) (59,4

4000

3000

2000

1000

-1 320e+04 / 25
[, pO 4227+ 0.0
pl -33.51+ 0.00

[ C=29.84 [ps/ch] “.

5(‘) 10‘0
TP delay [ns]

TVC(cbch) (5 9,8

1z, [upbe+u4 | 25
= po 4207+ 0.0
pl -32.96 + 0.00

4000 &
3000~ T
2000~ T
o C =30.34 [ps/ch] ™, 7
) L
0 50 100
TP delay [ns]
TVC(c,b ch) (5, 9 12)
S i g bse+ud /25
4000 . pO 4255+ 0.0
pl -35.07 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (59,1

AT 1 nuLsioe+ud [ 25
Foane po 4183+ 0.0
pl -32.92+ 0.00

[ C=30.38 [ps/ch] - 7
L 1 5

TP delay [ns]

TVC(c,b ch) (5 9,5

-1 nui Z3ye+u4 [ 25
[, DO 4223+ 0.0
pl -33.02+ 0.00

[ C =30.28 [ps/ch] ™ ]
% o
TP delay [ns]

TVC(c,b ch) (5 9,9

Tinunpb/e+ud [ 25
P 4231% 0.0
-34.39 + 0.00

- C =29.08 [ps/ch] ]

50

1
100

TP delay [ns]

TVC(cbch) (59,13

== po

p1

~ 1 nuiLqyae+ud [ 25
4255+ 0.0
-34.6 + 0.0

- C =28.90 [ps/ch]

50

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (5,9,2)

F C =30.52 [ps/ch] ™. 1

| 1
50 100

TP delay [ns]

TVC(cbch) (59,6

1000

K™ 1 nui loye+ud / 25
_l'_ po 4198+ 0.0
- pl -32.76 + 0.00

3000

T nun1.49e+04 /25
- pO 4221+ 0.0
L pl -34.61+ 0.00

TP delay [ns]

TVC(cbch) (5, 9 10

©1nui.u4ge+u4 | 25
. po 4241+ 0.0
[ p1 -33+ 0.0

F ¢ =30.31 [ps/ch] ™. 1

0

TVC(cbch) (59,14

50

1
100

TP delay [ns]

4000 e
3000
2000

1000

pD

pl

T rnuiLb1ze+04 /25
4265+ 0.0
-35.81+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,3

AT 1L ssoe+ud [ 25
= po 4203+ 0.0
pl -33.14+ 0.00

[ C=30.18 [ps/ch] ™ 7
& o
TP delay [ns]

TVC(c,b ch) (5 9,7

- nun by /e+u4 / 25
- pO 4234+ 0.0
p1 -34.04+ 0.00

[ C =29.38 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 9

T ab=e+u4/25
- pO 4234+ 0.0
pl -33.21+ 0.00

[ C=30.11 [ps/ch] ™, 7]

_L
50

1
100

TP delay [ns]

TVC(C, bch) (59,15

= po

T nai bzye+ud [ 25
4263+ 0.0
-34.66 + 0.00

I C =28.85[ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

T, 3ve+u4 [ 25
pO 4201+ 0.0
p1 36+ 0.0

TP delay [ns]

TVC(cbch) (5.10,4

-1z z94e+04 | 25
pO 4234+ 0.0
pl -36.85+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b, ch) (5, 10 8

T rnug.gE1e+U4 / 25
pO 4234+ 0.0
pl -36.56 + 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

[ C =28.81 [ps/ch]

T rgre+u4 [ 25
pO 4245+ 0.0
-34.7+ 0.0

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,10,1)

AT 1w u/e+u4 | 25
po 4204+ 0.0
pl -36.29 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,10,5

=1 nu 20pe+u4 / 25
pO 4221+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

<1 nuiL10Ye+U5 / 25
po 4269+ 0.0
p1 -38.46 + 0.00

1
100

TP delay [ns]

TVC(cbch) (510,13

TinaiLy//e+ud [ 25
pO 4259+ 0.0
pl -36.07 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(CbCh) (5,10,2)

A7 1 nui szae+04 /25
po 4211+ 0.0
p1 -36.6+ 0.0

TP delay [ns]

TVC(cbch) (5.10,6

T rnun2.35e+04 [ 25
pO 4235+ 0.0
pl -37.74 0.00

100

TP delay [ns]

TVC(cbch) (5, 10 10

T gz ze+04 [ 25
po 4275+ 0.0
pl -37.5+ 0.0

TP delay [ns]

TVC(cbch) (5.10, 14

T pyle+ud /25
pD 4258+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10, 3)

AT 1L ryse+ud [ 25
po 4216+ 0.0
pl -35.92+ 0.00

1
100

TP delay [ns]

TVC(c, bch) (5,10, 7

Cnuz4/e+04 /25
pO 4245 0.0
pL -37.27+ 0.00

100
TP delay [ns]

TVC(cbch) (5, 10 1

Tonan 2 30e+04 1 25
po 4286+ 0.0
pl -37.79+ 0.00

TP delay [ns]

TVC(cbch) (5.10,15

TinuiL gy /e+ud [ 25
po 4257+ 0.0
p1 -35.6 + 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

K™ nui144e+04 /25
po 4174+ 0.0
p1 -34.84+ 0.00

TP delay [ns]

TVC(cbch) (511,4

=i, ro8e+u4 [ 25
e, pO 4205+ 0.0
pl -36.27:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 11 8

1 nuiLygbe+U4 / 25
- po 4210+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 12

K™ 1nuioz/e+04 /25
= po 4227+ 0.0
pl -34.83+ 0.00

TP delay [ns]

TVC(Cbch) (5,11,1)

4000 &

Fome, po

AT 1 nunLiyse+ud [ 25
4174+ 0.0
pl -35.07 + 0.00

3000

2000

1000

1 1
50 100

TP delay

TVC(cbch) (5 11,5

4000 fm, pO

pl

[ns]

S nu s1ze+04 [ 25
4220+ 0.0
-36.54 + 0.00

3000 -

2000

oo C = 27.37 [ps/ch

TP delay

TVC(cbch) (5, 11 9

4000 fem po

[ns]

. Huwzm/e+l)4/25
4247+ 0.0
pl -35.76 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (511,13

4000 pO

[ns]

T nuib3oe+ud / 25
4246+ 0.0
pl -35.98 + 0.00

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (5,11, 2)

AT irze+04 /25
k. po 4190+ 0.0
L pl -35.93+ 0.00

3000

TP delay [ns]

TVC(cbch) (5116

1000

= 1 UL ysbe+ud / 25
- pO 4217+ 0.0
[ pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (5, 11 10

1000

0

Tz ge+u4 /25
-, po 4252+ 0.0
- pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (5,11, 14

X~ 1nuiLayre+ud [ 25
__ po 4246+ 0.0
L pl -35.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,11,3)

po

AT rnuiLsuLe+ud [ 25
4202+ 0.0
pl -35.79+ 0.00

TP delay

TVC(cbch) (5 11,7

o= pO

[ns]

- nui ruYe+u4 / 25
4226+ 0.0
-35.9+ 0.0

50 1(;0
TP delay

TVC(cbch) (511,11

= pO

[ns]

T nai719e+04 / 25
4262+ 0.0
-35.9 + 0.0

TP delay

TVC(cbch) (5,11, 15

[ns]

T nui ss1e+ud [ 25
4236+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 12 0)

T rnuiLgrse+u4 [ 25
Frcea pO 4199+ 0.0
-34.28 + 0.00

[ C =29.17 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5.12,4

“nun 1 14e+04 / 25
- pO 4207+ 0.0
p1 -34.64+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 12 8

©1nuizuloe+u4 | 25
- po 4228+ 0.0
p1 -34.78 + 0.00

TP delay [ns]

TVC(cbch) (512,12

T, r1ze+04 /25
= po 4217+ 0.0
-34.03+ 0.00

[ C =29.38 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,12,1)

ase po

pl

AT 1 nunLsube+ud [ 25
4203+ 0.0
-34.93+ 0.00

1 1
50 100

TP delay [ns]

TVC(cbch) (5,125

- nui 313e+04 / 25
4221+ 0.0
-35.06 + 0.00

TP delay [ns]

TVCEDeh)=(5, 12,9

== po
pl

~ 1 nuwz3ve+ud 25

4229+ 0.0
-33.51+ 0.00

[ C =29.84 [ps/ch] ™.

1
50 100

TP delay [ns]

TVC(cbch) (512,13

= po

Tinai rb3e+ud / 25
4213+ 0.0
-34.72+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (5,12,2)

TP delay [ns]

TVC(cbch) (5.12,6

AT 1nun ss1e+04 /25
_l_ po 4226+ 0.0
- pl -36.24 + 0.00

3000

- i blze+u4 [ 25
-, po 4225+ 0.0
[ 357+ 0.0

TP delay [ns]

TVC(cbch) (5, 12 10

T a2 yore+ud [ 25
po 4262+ 0.0
p1 -34.34+ 0.00

- C = 29.12 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (5.12, 14

T 10e+u4 / 25
- pD 4219+ 0.0
L pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,12,3)

AT 1L ole+ud [ 25
4222+ 0.0
pl -36.32+ 0.00

po

TP delay

TVC(c, bch) (5,127

- pO

[ns]

- nui obe+u4 / 25
4240+ 0.0
pl -35.25+ 0.00

TP delay

TVC(ehoh)=(5, 12, 11

= pO

[ns]

T nuiz.uy/e+ud [ 25
4253+ 0.0
-34.2+ 0.0

[ C=29.24 [ps/ch]

1
50 100

TP delay

TVC(cbch) (5.12,15

JRTeTNY:

e, po

[ns]

- Ze+U4[25
4222+ 0.0
pL -34.66+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.13,0)

~ 1 nuiL,suye+ud / 25
e, PO 4203+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(cbch) (5.13,4

-1 5ze+04 [ 25
e pO 4213+ 0.0
pl -36.39 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 13 8

©1nu.zoae+ud [ 25
- pO 4232+ 0.0
pl -35.44 + 0.00

TP delay [ns]

TVC(cbch) (513,12

T nuiLosze+u4 [ 25
- PO 4238+ 0.0
pl -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,1)

A7 1 nuiLbbe+ud [ 25
o, PO 4211+ 0.0
pl -35.8 £ 0.0

TP delay [ns]

TVC(c, bch) (5.13,5

~nun1.40e+04 [ 25
DU 4232+ 0.0
pL -36.56 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 13

<1 ub, 19be+u4 [ 25
- pO 4245+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (513,13

T 1w bu4e+ud [ 25
- PO 4234+ 0.0
pl -35.49 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,13,2)

A~ rore+V4 /25
e, po 4200+ 0.0
I pl -35.41+ 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,6

- rnun381e+04 / 25
- pO 4204+ 0.0
I pl -35+ 0.0

3000

TP delay [ns]

TVC(cbch) (5, 13 10

1000

0

©1nug,uzbe+ud / 25
- DO 4279+ 0.0
3 Pl -37.33 0.00

3000

TP delay [ns]

TVC(cbch) (5.13,14

- L4 7e+0d | 25
- PD 4243+ 0.0
F pl -35.46 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,3)

AT naLslie+ud [ 25
PO 4200+ 0.0
pl -34.33+ 0.00

[ C=29.12 [ps/ch]

L
50 100

TP delay [ns]

TVC(c, bch) (5,137

-1 430e+U4 [ 25
- PO 4217+ 0.0
Pl 3556+ 0.00

TP delay [ns]

TVC(cbch) (5, 13 1

T i ybie+u4 / 25
- p0 4270+ 0.0
pL -36.26 + 0.00

TP delay [ns]

TVC(cbch) (513,15

T inuibzie+ud [ 25
4248+ 0.0
-36.31+ 0.00

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

1nuzsre+u4 [ 25

pO 4206+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (5.14,4

-1 z8ze+u4 [ 25
Fome, pO 4205+ 0.0
pl -35.80  0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5, 14 8

T4l /e+04 /25
= pO 4211+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (514,12

T L ysse+u4 / 25
= po 4241 0.0
pl -35.65+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

e po

pl

AT rnuiLsrie+ud [ 25
4200+ 0.0
-35.93+ 0.00

TP delay [ns]

TVC(c, bch) (5,145

-1 nui 4u5e+04 / 25
4197+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(c, bch) (5, 14 9

e, po

pl

~ 1 nuy.az29e+u4 [ 25
4232+ 0.0
-35.44+ 0.00

TP delay [ns]

TVC(cbch) (514,13

T inai szze+ud [ 25
4247+ 0.0
-36.64 + 0.00

TP delay [ns]

TVC(CbCh) (5,14,2)

4000, po

pl

3000~

2000 -

wol- C = 28.22 [ps/ch

K™ 1 nui49oe+04 /25
4225+ 0.0
-35.44 + 0.00

1
50 100

TP delay

TVC(cbch) (5.14,6

4000 [, pO

[ns]

- 3/8e+04 [ 25
4226+ 0.0
pl -36.25+ 0.00

3000~

2000~

wof C = 27.58 [ps/ch

TP delay

TVC(cbch) (5, 14 10

T 3.49e+04 /25
4251+ 0.0
pl -35.45+ 0.00

4000 [

pO

[ns]

3000
2000

1000

TP delay

TVC(cbch) (5. 14,14

4000

[ns]

TrnuiLps/e+ud [ 25
4226+ 0.0
-35.31+ 0.00

3000

2000

1000

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,14,3)

AT rnuiL4sse+ud [ 25
4231+ 0.0
pl -36.59 + 0.00

po

TP delay

TVC(c, bch) (5,14, 7

[ns]

- nun 3bze+04 / 25
4212+ 0.0
-35.2+ 0.0

TP delay

TVC(cbch) (5 14,11

= pO

[ns]

T nuiz 3 /oe+u4 [ 25
4257+ 0.0
pl -35.86 + 0.00

TP delay

TVC(cbch) (5.14,15

[ns]

-1 nui ooae+ud /25
4237+ 0.0
p1 -35.76 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5.15,0)

TinuiLpsie+ud / 25
[Fimse, PO 4244+ 0.0
-34.74 % 0.00

[ C =28.79 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (5,154

T rnuzu8/e+ud [ 25
Fome, pO 4211+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (5, 15 8

T nu1z3e+u4 / 25
- pO 4223+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (5,15, 12

T i, r49e+04 / 25
[ pO 4258+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,15,1)

A7 1 nuiLoB4e+U4 [ 25

4229+ 0.0
-34.13+ 0.00

[P, po

pl

[ C =29.30 [ps/ch]

L

1
50 100

TP delay [ns]

TVC(cbch) (5,155

S nunz.04e+04 [ 25
DU 4220+ 0.0
pl -36.89 + 0.

36.89 + 0.00

TP delay [ns]

TVC(c,b ch) (5, 15

~ 1 nuy.usse+ud 25
4233+ 0.0
-35.55 + 0.00

TP delay [ns]

TVC(cbch) (5.15,13

pO
p1

Tinai g rye+ud [ 25
4272+ 0.0
-36.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (5,15,2)

TP delay [ns]

TVC(cbch) (5.15,6

1000

K™ 1 nui rose+u4 / 25
_.— po 4254+ 0.0
- pl -36.47 + 0.00

3000

T nu z30e+04 [ 25
- pO 4226+ 0.0
H PL_ 36,68+ 0.00

TP delay [ns]

TVC(cbch) (5. 15, 10

T guze+ud [ 25
- DO 4254+ 0.0
3 Pl -35.62% 0.00

TP delay [ns]

TVC(cbch) (5.15, 14

T i, ry4e+u4 [ 25
PD 4268+ 0.0
pl -36+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,15,3)

po
p1

AT 1L ssae+u4 [ 25
4266+ 0.0
-35.27 + 0.00

TP delay

TVC(c, bch) (515, 7

= pO

[ns]

S nun 1 9se+04 [ 25
4232+ 0.0
-36+ 0.0

50 1(;0
TP delay

TVC(cbch) (5, 15 1

[, pO

[ns]

T nuzsy/e+ud [ 25
4263+ 0.0
-36.1+ 0.0

TP delay

TVC(cbch) (515,15

[ns]

T byle+u4 /25
4253 0.0
pl -35.37 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

A7 1nun szse+04 /25
P po 4150+ 0.0
-33.93+ 0.00

[ C =29.47 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6,0,4

- uiz.a93e+04 | 25
o, pO 4169+ 0.0
pl -33.89+ 0.00

[ C =29.50 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

T 1nuig.430e+04 / 25
[oane PD 4177+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (6,0,12

©rnuiLguze+u4 / 25
= po 4208+ 0.0
pl -35.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

AL AU re+U4 ] 25
Foaee po 4165+ 0.0
pL -35.39+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

-1 U gobe+u4 / 25
P pO 4181+ 0.0
p1 -35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

-1 nuy.3u0e+u4 / 25
E po 4196+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (6,0,13

~ 1 nui gyoe+ud | 25
E pO 4203+ 0.0
pl -35.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.73 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

A7 1 nui osoe+u4 / 25
Freee po 4171+ 0.0
o pl -348+ 0.0

-1 101e+04 / 25
Freee, pO 4197+ 0.0
L pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

© 1 nu,329e+04 | 25
3 po 4214+ 0.0
L pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

~ 1 nuiLyose+u4 / 25
E. pD 4198+ 0.0
L pl -35.02+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT 1L bsoe+ud [ 25
s po 4185+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

- nu 33ze+04 / 25
o, pO 4203+ 0.0
pL -34.65+ 0.00

[ C =28.86 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

Trnug, uue+u4/25
£ po 4220+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
)

T inuiL g roe+ud [ 25
4214+ 0.0
p1 -35.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,0)

A7 1 nui dose+u4 / 25
po 4174+ 0.0
pl -36.77 + 0.00

TP delay [ns]

TVC(cbch) (6.1,4

- rnuz.410e+04 / 25
pO 4176+ 0.0
p1 -34.13 0.00

[ C=29.30 [ps/ch]\,_ ]
% o
TP delay [ns]
TVC(c,b ch) (6 1,8

1 nuiLyyse+u4 / 25
PD 4198+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(cbch) (61,12

T L4 e+u4 [ 25
pO 4197+ 0.0
pl -35.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1

X~ 1 i Sode+ud | 25
e, po 4194+ 0.0
pL -37.28+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

- U 334e+04 [ 25
pO 4161% 0.0
pL -35.16+ 0.00

TP delay [ns]

TVC(c,b ch) (6 1,9

-1 nui/ pube+ud / 25
= pO 4231+ 0.0
p1 -34.73+ 0.00

TP delay [ns]

TVC(cbch) (61,13

~ 1 nui puse+ud / 25
= pO 4191+ 0.0
pl -35.35+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,1,2)

K™ 1 nuidose+04 /25
e, po 4209+ 0.0
L pl -37.74+ 0.00

3000

TP delay [ns]

TVC(cbch) (61,6

-1z bobe+u4 / 25
- pO 4197+ 0.0
3 pl -35.95+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 1 10

1000

© 1z, ro4e+04 [ 25
- po 4244+ 0.0
L pl -35.42 + 0.00

3000

TP delay [ns]

TVC(cbch) (61,14

TrnuiLprze+u4 [ 25
-, pD 4190+ 0.0
L p1 -34.92 % 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

AT 1 nuiLosbe+ud [ 25
po 4193+ 0.0
pl -37.27 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

~nubae+u4 [ 25
- pO 4190+ 0.0
p1 -34.66+ 0.00

TP delay [ns]

TVC(c,b ch) (6, l

AN ua4e+u4/25
= pO 4254+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(cbch) (61,15

T nuipble+ud / 25
po 4197+ 0.0
p1 -35.52 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,0

K™ nuiLyise+ud /25
- po 4199+ 0.0
pl -37.31+ 0.00

TP delay [ns]

TVC(cbch) (62,4

“ i 719e+04 / 25
e, pO 4213+ 0.0
p1 -35.77:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 2,8

©nuizusge+u4 | 25
- po 4219+ 0.0
pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (6,2, 12

T L ysoe+u4 / 25
= po 4211+ 0.0
pl -34.77 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,1

A” 1 nuiLbyoe+ud [ 25
P e po 4209+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (6 2,5

=1 nuiL Buge+u4 / 25
[Fomes, pO 4218+ 0.0
pl -36.04 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 2,9

Tinugs/ /e+ud [ 25
- po 4263+ 0.0
pl -36.92 + 0.00

TP delay [ns]

TVC(cbch) (6,213

T inuiLgoe+ud [ 25
= pO 4238+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,2,2)

- C = 28.34 [ps/ch

K™ 1 nui rose+U4 / 25
P, po 4208+ 0.0
o pl -35.29.+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (62,6

-1 nun BBYe+u4 / 25
- pO 4234+ 0.0
[ pl -35.63+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 2 10

T nuzg38e+u4 | 25
__ DO 4263+ 0.0
- pl -35.78 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,2 14

T gsze+u4 [ 25
. pD 4224+ 0.0
L pl -35.23+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,2,3)

po
pL

AT 1 nuzuuve+ud [ 25
4212+ 0.0
-36.36 + 0.00

TP delay [ns]

TVC(c,b ch) (6 2,7

feme pO
pl

=1 i Bube+u4 / 25
4248+ 0.0
-36.13+ 0.00

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 2

- pO

T, 1/5e+u4/25
4275+ 0.0
-36.69 + 0.00

TP delay [ns]

TVC(C, bch) (6,215

T nui goze+ud [ 25
4243+ 0.0
-35.67 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

X~ 1 nuiLblie+ud [ 25
- po 4195+ 0.0
pl -36.59 = 0.00

TP delay [ns]

TVC(cbch) (63,4

T i ry1e+u4 / 25
e, pO 4229+ 0.0
pl -37.37:+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

Tz 143e+04 / 25
- po 4235+ 0.0
pl -35.92+ 0.00

TP delay [ns]

TVC(cbch) (6,3 12

©rnuizguze+u4 | 25
= po 4235+ 0.0
p1 -35.6+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT rnuLorse+ud [ 25
Foase po 4201+ 0.0
pl -36.82 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

-1 nui /8be+u4 / 25
pO 4232+ 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,9

T nuy.318e+u4 / 25
- po 4253+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (63,13

T nai r9ve+ud / 25
= pO 4223+ 0.0
pl -34.96 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

TVC(cbch) (6,3,2)

AT 1nuiszie+4 /25
Freee, po 4213+ 0.0
L pl -36.64 + 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

“ i 7z4e+04 [ 25
- pO 4236+ 0.0
[ pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

T nuzb3ve+ud | 25
- po 4281+ 0.0
- -35.8+ 0.0

3000

TP delay [ns]

TVC(cbch) (6,3 14

1000

T L gsse+u4 [ 25
- pD 4225+ 0.0
[ p1 -36.05+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

A” 1L booe+ud [ 25
- po 4215+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

Srnar 1ye+ud [ 25
- pO 4246+ 0.0
pL -35.61+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T zbze+u4/25
- pO 4261+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (63,15

-1 nuiLyyye+ud / 25
= po 4241% 0.0
p1 -36.29 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

AT 1nuisyre+u4 /25
.. po 4197+ 0.0
pl -35.88 0.00

TP delay [ns]

TVC(cbch) (64,4

- 1L 3u1e+u4 / 25
e, pO 4186+ 0.0
pl -33.93+ 0.00

[ C =29.47 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T, fo3e+U4 | 25
= po 4189+ 0.0
p1 -35.41+ 0.00

TP delay [ns]

TVC(cbch) (64,12

TrnuiLszie+u4 /25
= po 4221+ 0.0
pl -33.43+ 0.00

[C=29.91[ps/ch] . ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

AT 1nuiLzo/e+ud [ 25
P, po 4176+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui431e+04 / 25
- pO 4185+ 0.0
pL -34.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

. HUI44::53+U4/25
= po 4208+ 0.0
pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (64,13

Tinais4/e+u4 /25
= pO 4220+ 0.0
pl -34.58 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

K™ 1 nui soie+u4 /25
_- po 4190+ 0.0
o pl -35.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

“rnuiLb4a/e+V4 [ 25
e pO 4188+ 0.0
[ pl -35.17+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

©1nugbz9e+u4 | 25
__ DO 4241+ 0.0
L pl -34.7+ 0.0

- C = 28.82 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (64,14

T ssze+u4 [ 25
__ 4229+ 0.0
5 -33.58 + 0.00

FC=20.78 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT 1L zsse+ud [ 25
.. po 4205+ 0.0
p1 -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 4,7

S nu /rze+04 /25
- pO 4200+ 0.0
p1 -34.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

T 559e+u4/25
= po 4226+ 0.0
pl -33.72+ 0.00

[ C =29.66 [ps/ch]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

-1 nuiquye+ud / 25
= 4225+ 0.0
-34.45+ 0.00

[ C =29.03 [ps/ch] ]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A~ 1 nui 4use+ud 25
o po 4203+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(cbch) (6,54

[ C =29.35 [ps/ch]

U2 /e+04 [ 25
o, po 4198+ 0.0
pl -34.07 + 0.00

50 5
TP delay [ns]

TVC(cbch) (6 5,8

- Zuserua /25
= po 4217+ 0.0
p1 -35.66+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

© L yase+u4 | 25
= po 4226+ 0.0
pl -35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5.1)

~ i tsverud [ 25
e pO 4214+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(c,b ch) (6 55

[ C =29.49 [ps/ch] 7]

“rnan 311e+04 /25
pO 4195+ 0.0
p1 -33.91# 0.00

50 150
TP delay [ns]

TVC(c,b ch) (6 59

-1 Gzae+04 [ 25
pO 4214+ 0.0
p1 -35.12 + 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inui gse+ud [ 25
pO 4249+ 0.0
pl -35.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,5,2)

X~ 1 L 5use+u4 [ 25
- po 4225+ 0.0
[ p1 -36.36+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,56

- C =29.37 [ps/ch]

- g, 0zye+ud / 25
fo, pO 4209+ 0.0
[ p1 -34.05 + 0.00

3000

50 10'0
TP delay [ns]

TVC(cbch) (6, 5 10

- 1 iz ysse+ud | 25
- pO 4242+ 0.0
L pl -35.54 + 0.00

3000

TP delay [ns]

TVC(c,b Ch) (6, 5 14

i 1bze+0d 25
- pD 4222+ 0.0
[ p1 -35.01+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A1 nuig sose+ud [ 25
e po 4211+ 0.0
pl -34.72:+ 0.00

TP delay [ns]

TVC(c,b ch) (6 57

-1 nug 140e+04 / 25
- pO 4211£ 0.0
p1 -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

T Mue+u4/25
- pO 4248+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

- (gge+ud [ 25
e pO 4236+ 0.0
p1 -35.95 + 0.00

TP delay [ns]



TVC(c,b Ch) (6,6,0) TVC(c,b Ch) (6,6,1) TVC(c,b Ch) (6, 6 2) TVC(c,b Ch) (6,6,3)
A1 523e+0d 1 25 X~ 1L dyie+0a ] 25 i Laserud 25 X~ 1 Sae+r0d ] 25
A000E, po 4198+ 0.0 4000 R, po 4208+ 0.0 000, pO 4203+ 0.0 4000, PO 4215+ 0.0
Pl 35.27:0.00 Pl -35.60: 0.00 [ pl 353+ 0.0 Pl -35.26% 0.00

3000

E 3000 - 3000~ - 3000 E

2000 -1 2000 -1 2000~ = 2000 -

7] 1000:‘ C =28.33 [ps/ch ' woo- C = 28.36 [ps/ch

1000 - 1000 N
L 1 1 1 - _1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (66,4 TVC(cbch) (66,5 TVC(cbch) (66,6 TVC(c, bch) (66,7

Tanu 1./e+04 /25 “rnun 1.8be+04 [ 25 T nuiL 715e+04 / 25 S yzre+ud [ 25
A000FL, pO 4182+ 0.0 000, pO 4207+ 00 4000k, pO 4195+ 0.0 4000 o, pO 4207+ 00
Pl -34.87% 0.00 Pl -36.17+ 0.00 - PL_ 3534+ 0.00 pL_ 3578+ 0.00
[ -
3000 ] 3000 - 3000 ] 3000 ]
2000~ - 2000 ] 2000 E 2000 ]
L ] 1000 - 1000F = ] 1000 C E
1000~ C [ C =28.30 [ps/ch ]
- F - L -
- - -
1 L= 1 L= 1 -
50 100 50 T00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch)=(6,6,8) TVC(eb.c)=(6,6,9) TVC(eb.ch)=(6, 6, 10) TVC(ebeh)=(6,6,11)
T rnu51ve+u4 /25 -1 384e+05 / 25 T 1nug.sULe+u4 / 25 ~ g 1b4e+04 / 25
4000 o, pO 4216+ 0.0 4000 e, pO 4247+ 0.0 4000 [, DO 4258+ 0.0 4000 [ p0 4255+ 0.0
Pl 3548+ 000 Pl 3472000 [ 358+ 0.0 Pl -35.03: 0.00

= 3000

3000 . 3000

T 3000

2000 T 2000 -

] 2000 2000

1000

1000 1 ook C = 28.80 [ps/ch™, 1 1000 1
1 1 - L 1 1 -
50 100 0 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(661 ) TVC(cbch)(6613) TVC(Cbch)(661 ) TVC(cbch)(6615)
T rnuizuLie+u4 | 25 Tinaizie+ud /25 T rz1e+04 /25 T nui rbae+ud [ 25
4000 pO 4234+ 0.0 4000 pO 4227+ 0.0 4000 PD 4224+ 0.0 4000 4238+ 0.0
pl -35.65+ 0.00 pl -35.48 + 0.00 r pl -35.34+ 0.00 -36.01+ 0.00

3000

-1 3000 -1 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000

-1 1000 - 1000

PR I S S |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(c,b Ch) (6,7,0) TVC(c,b Ch) (6,7,1) TVC(c,b Ch) (6,7,2) TVC(c,b Ch) (6, 7 3)
x-S r1e+041 25 x-S0 e+Ud ] 25 K- 1 Ldse+04 ] 25 i averud 25
4000 4187+ 0.0 400, po 4210+ 0.0 a0, po 4216+ 0.0 4000 o, pO 4216+ 0.0
-35.31+ 0.00 pl_ -36.54+ 0.00 [ Pl -36.09+ 0.00 Pl -35.38 0.00

- 3000

3000 = 3000 =1 3000 - -1

2000 — 2000 7] 2000 ] 2000 [

1000 - 1000 ] 1000: w0 C = 28.27 [pS/Ch 7]
1 1 ~- 1 1 1 1 -.
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.7.4) TVC(cbch) (6.7,5) TVC(cbch) (6.7,6) TVC(cbch) (6.7,7)
- 1L ysye+ud / 25 1/ r4e+04 | 25 11 .8o0e+04 [ 25 - nui y3ze+u4 / 25
4000 pO 4199+ 0.0 4000k, po 4210+ 0.0 4000 fo pO 4218+ 0.0 4000 R pO 4217+ 0.0
pl -34.58 + 0.00 pL -35.15+ 0.00 3 pl -34.85:+ 0.00 pL -34.35+ 0.00
3000~ - 3000 E 3000 — — 3000 -
2000~ E 2000 B 2000 - — 2000 [ E
1 ] wnf C = 28.69 [ps/ch 1 ol C = 29,11 [ps/ch] 1
1 1 " [ 1 1 =] 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6,7,8) TVC(cbch) (6,7,9) TVC(cbch) (6.7,10) TVC(cbch) (6,7,11)
s W] e Pl I = ] e P
pl -35.81+ 0.00 pL -36.28+ 0.00 pl -36.93+ 0.00 pL -37.32:+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 -1 2000 -1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

0

0 0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(671 ) TVC(cbch)(6713) TVC(cbch)(67l ) TVC(cbch)(6715)
~ 1 nuiLsyye+ud / 25 T gbre+u4 [ 25 TnuiLs3e+ud [ 25 T y31e+u4 /25
4000 fm, pO 4255+ 0.0 4000 [, pO 4248+ 0.0 4000 fm, PD 4252+ 0.0 4000 fe pO 4262+ 0.0
pl -36.27 + 0.00 pl -37.04 + 0.00 r pl -36.36 + 0.00 pl -36.57 + 0.00

3000 -1 3000 - 3000 -1 3000 -1

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(680) TVC(cbch)(681) TVC(cbch)(682) TVC(cbch)(683)
A1 nuizudve+ud [ 25 ~rnun g yoe+ud / 25 ATz 1/1e+04 /25 A1 313e+ud | 25
4000 po 4182+ 0.0 4000 po 4180+ 0.0 4000 [Foeee, po 4205+ 0.0 4000, PO 4207+ 0.0
pl -34.78 + 0.00 pl -34.64 + 0.00 - pl -34.91+ 0.00 pl -35.62+ 0.00

3000

E 3000 - 3000 - 3000 [ —

2000 4 2000 - 2000~ - 2000~

- 1000 p~

1000 - 1000 - 1000 C=2864 [ps/ch 7
1 1 A 1 1 - 1 1 -
50 00 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (6.8,4) TVC(cbch) (6.85) TVC(cbch) (6.8,6) TVC(cbch) (6.8,7)
-1 14ze+04 [ 25 -1 512e+04 [ 25 - 1 rae+ud | 25 - 1. ieye+ud | 25
4000 [y pO 4268+ 0.0 4000, pO 42512 0.0 4000 fm, pO 4262+ 0.0 4000 o=, pO 4282+ 0.0
pl -38.78 + 0.00 pL -37.57 + 0.00 L pl -38.06+ 0.00 -37.8+ 0.0
3000 E 3000 - a000f- 3 3000 -
2000 E 2000 - 2000 3 2000 E
1000 E 1000 - 1000:— C =26.28 [pS/C — 1000 E
0 EY 00 0 0 EY o 0 5 T ==
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (6,8,8) TVC(c,b ch) (6,8,9) TVC(c,b, ch) (6,8,10) TVC(c,b ch) (6,8,11)
1 nuiL4u8e+u4 / 25 T nug.an3e+u4 [ 25 © 1 nuz.485e+04 / 25 T i ro4e+u4 [ 25
4000 e pO 4212+ 0.0 4000 [ pO 4221+ 0.0 4000 e DO 4253+ 0.0 4000 jam, p0 4260+ 0.0
pl -34.92 + 0.00 pL -34.43+ 0.00 3 pl -35.13 + 0.00 -34.9% 0.0
3000 1 3000 |- - 3000 — 3000 E
2000 -1 2000 | - 2000 L —- 2000 -1
1000 7 1000~ C = 29.04 [pS/Ch] - 1000: - 1000 T
1 1 - L N ) -
50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(6812) TVC(cbch)(6813) TVC(cbch)(681 ) TVC(cbch)(6815)
T you8 /25 S 2801 /25 © 1 nuiL404e+04 25 T 4oze+04 [ 25
4000 pO 42215 0.0 4000 pO 4235+ 0.1 4000 pD 4222+ 0.0 4000 4230+ 0.0
pl -35.69 + 0.00 pL -36.02 + 0.00 3 pl -34.57 + 0.00 -35.01+ 0.00

3000 -1 3000 N 3000 -1 3000 T

2000 1 2000

2000 - 2000

1000 -1 1000

- 1000

1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

AT r4/e+04 /25
Focea po 4213+ 0.0
pl -36.49 + 0.00

TP delay [ns]

TVC(cbch) (69,4

- i bh3e+ud / 25
o pO 4236+ 0.0
pl -35.07:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

©1nuz.bs4e+04 [ 25
- po 4220+ 0.0
pl -34.95+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

T L b3se+u4 / 25
= po 4237+ 0.0
p1 34+ 0.0

[ C =29.41 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

A7 1 nuiLosoe+ud [ 25
Fraee po 4218+ 0.0
pl -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

- nun b3ze+u4 [ 25
pO 4249+ 0.0
pL -35.71% 0.00

TP delay [ns]

TVC(c,b ch) (6 9,9

~ 1 nu B38e+U4 / 25
- po 4232+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

Tinuisrse+ud [ 25
= pO 4234+ 0.0
pl -35.16 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

4000

2000

1000

4000

2000

TVC(cbch) (6,9,2)

AT 1 nui s43e+04 /25
P, po 4237+ 0.0
- pl -37.54+ 0.00

3000

TP delay [ns]

TVC(cbch) (69,6

1000

Sl bbe+us4 [ 25
- pO 4258+ 0.0
[ pl -35.61+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 9 10

T nuigsloe+u4 / 25
-, po 4259+ 0.0
- pl -36.04 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,9,14

1000

T L4ze+ud /25
. pD 4248+ 0.0
L pl -36.52+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

AT 1L Bsve+ud [ 25
o= po 4241+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

- nui Yo /e+u4 / 25
- pO 4274 0.0
pL -36.66+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T, 115e+u4125
- pO 4270+ 0.0
p1 -36.14 + 0.00

TP delay [ns]

TVC(C, bch) (6,9,15

T nuiayve+ud [ 25
- pO 4257+ 0.0
p1 -36.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,10,0)

~ 1 nuiL4p8e+U4 / 25
"easa PO 4204+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (6.10,4

- 1 i bage+ud / 25
ease pO 42131 0.0
pl -36.68 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

S rnuiLbl/e+V4 /25
- PD 4218+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(cbch) (6.10,12)

TinuiLyr4e+u4 [ 25
- PO 4228+ 0.0
353+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (6,10,1)

e, po

pl

A 1L asoe+ud [ 25
4207+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(c, bch) (6,10,5

AL
e, o

119e+04 /25
4218+ 0.0
-36.17 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

~ 1 naiy zgbe+ud [ 25
4222+ 0.0
-35.85+ 0.00

TP delay [ns]

TVC(cbch) (610,13
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I pl -36.23+ 0.00

3000

T 1 pbe+ud [ 25
- pO 4226+ 0.0
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pl -35.43+ 0.00

TP delay [ns]

TVC(cbch) (6, 13 8

Fome, pD

1 nuiz plae+ud | 25

pl -34.71+ 0.00
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<1 nuiLagoe+u4 / 25
= po 4215+ 0.0
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